73
A
cend

Fducation

.

e

2

for GCSE (9-1) Edexcel Business

S Hastings

zigzageducation.co.uk

Publish your own work... Write to a brief...
Register at publishmenow.co.uk

[ 7 Follow us on Twitter @ZigZagBusiness

Photocopiable/digital resources may only bie copied by the purchasing institution on a single site and for their own use



Contents

Product Support from ZigZag Education . emmsisssminsisniesssaeissininsussimsssinmneissimenssasesesassnsvssunssansnssansnesassnsossnssll

Terms and Conilions BF USE «uciiiiiiccrecieceiracracrscnsenscrosrscrsonscrscsosssenecssssssmsssscnscasssossscssrascssssossscnscssssacnssnscnscnacsasnscnarnsedl

1
BEE B orievsoiiorrncrorsornoiasrmarsorsorsaerorsoruataoryersoknorsnNoryoLraLIOENELSOKHONNOENOKHOESOKIOKNEL SO ONY OSSNSO NS OIS NN ENS KT ONNOEONPONS NSNS ARSI DRSNS ORI ON PO N SO 0B

1.1 — Enterprise and entremran@UISRIT .o e eneretssrr e remerennes s rrcrerbeesesae s et s e s ebeeen b s e rncs e reneanenenencannees 2
1.2 — SPOTHING @ BUSINGSS ODPROITUNITY oot ertee e et ccrerere e s rcr e reacrennas s rrcrnbeesae s et s erbee et s esencsentrenaunenssincacnsars 4
1.3 — Putting @ business idea INT0 BraCiR (.o iiir et crmcr e e r e e s sae s e ererbce e abaarencsenresauncnesincacnnens 7
1.4 — Making the BUSINeSss @FFECTIVE ..ot e e e cr e e s s e s e e erbeaestserencsennressanenerenencnen 13
1.5 — Understanding external Influences 0N BUSINESS .. e ees e e sr e e st ercsenrressanenesencncnn 15
2.8~ GrOWINE TN DUSINESS . cteeiriririr e eriee et erreaeustsrtrescteesrtaesercrernaaastr e b eaennee st s es et senebasases e seneeennesenenesereneasnbesartnenencaon
2.2 — Making marketing H@CISIBNS (..ot ittt e rrea e st cheaesneearbsesertrenebetaasereseresennbsesercrsrbneasnsessrtnesenceen
2.3~ Making operational dECISIONS (oo et e rrea et ea e eearbsesetrenebetaasereseresennbsesercrerbneasusesartnenenceen
2.4 — Making financial decisions ...

2.5 — Malking human resource decisions

1.1 — Enterprise and @ntreBren@UISHID .o oo caenrea et s eaesoraes e s eaebe e s s ta e s erca e re e s neaererenesee et nenneaennes 36
1.2 — SPOTINE A DUSINIESS OO UMY 1ot ere e ver s sraeree s e e rs s s e e e s e st va s s raeseenenesassneaeneensansnsassbeecansaanasaseneaenaraen 38
1.3~ PuUtting a DUSINESS 1R INTO PracliC it rerssa et e s st var s s s ae s e e s ene s n e beaesesassassaeacenenanasasensasnaraen 41
1.4 — Making the business effective .o
1.5 — Understanding external influances 0N BUSINESS ..ttt ereesssea e s crenraossnenerenesenseensenesencaennns 49
2. = GrOWING ThE BUSINESS et ciieie s itenee s rr e saeaensta e e a e caesaese s et b e s ebctonats e st screnonsesaneneseneannes erenesencaonaboeserenercncaons 54
2.2 — Making marketing JECISIONS .ottt rcirena s te st es b e s ebceosnts e st caesbaesnen e reaensesentneaessaonboesererercrcaons 58
2.3 = Making 0perational QatiSIONS oo it rcerena s cr e te st es e b e s ebctosnta e st caerba e s s en e he e e nnes e trea s rae s be e s neneneneaons 62
2.4 — MaKing fINanCial GECISIONS (i ittt cer s ee st e s s h e s ebctosnts e st caesiboesnen e neaennes e tneaencaonboeserenencrcaons 65
2.5 — Making human resource GROISIONS ..ot rcirerea s r e ceesstres s e s erctosstseatcresonsesasenacrsassnessreneaessassssosserenercrcaons &7




Teacher’s Introduction

First and foremost, this resource is intended to test students’ knowledge rather than to provide exact exam-style
guestions. Consequently, not all guestions will mirror the exact words and phrases used in actual guestion papers
for the Edexcel GCSE {9-1) Business (2017) specification.

This two-set resource of multiple-choice test guestions with answers has been written specifically for the
Edexcel GUSE {9-1) Business {2017} specification; however, it can also be used as a companion to Factsheets and

Activities for GCSE {91} Fdexcel Business (POD 10733}, which is also published by ZigZag Education.

Each set in this resource covers ali functional areas of business in the Edexcel GCSE {3—1) Business {2017} specification:

Theme 1: investigating small business Theme 2: Building a business
Topic 1.1 — Enterprise and entrepreneurship Topic 2.1 - Growing the business
Topic 1.2 — Spotting a business opporiunity Topic 2.2 — Making marketing decisions
Topic 1.3 — Putting a business idea into practice Topic 2.3 —~ Making operational decisions
Topic 1.4 — Making the business effective Topic 2.4 — Making financial decisions
Topic 1.5 - Understanding external influences on business | Tople 2.5 — Making human resource decisions

The resource has two sets of muitiple-choice guestions with answers: Set A and 5et B. Each set contains 265
guestions testing topics covered in both the specification and the aforementioned ‘Factsheets and Activities’. The
resource is written in such a way as to take into account the fact that different students have different levels

of ability.

Suggested use of Set A and Set B tests

Questions in Sef A either correspond to or mirror those in 5et B. The format for both sets is the same. The specific

topic tested in Set Als retested in Set B using different wording, different emphasis or a reverse scenario. This

makes the pack a very flexible resource capable of multiple uses in the teaching and learning environment.

For example:

s After covering a topic in class, say in specification number 1.1, the teacher could first go through Set A 1.1
guestions and answers with the students in the classroom environment using a guestion and answer session.
At a later time, Set B 1.1 guestions could be used as a formal class test to check how much the students have
fearnad and to identify areas of concern and areas that were well understood. {Set B could be used first, then
Set A}

& Alternatively, Set A 1.1 questions could first be given as a formal class test. Then, shortly afterwards, the
teacher could go through Set B 1.1 guestions and answers with the students in the classroom environment
using a guestion and answer session. This would highlight areas of concern and areas that were well
understood resulting from the fest outcome. {Set B could be used first, then Set AL}

e Students could be given Set A 1.1 questions for homewaork, then, shortly afterwards, be given SetBl.1asa
formal class test, The result could then be compared with the homework one, identifying areas of knowledge
strength and knowledge weakness. {Set B could be used first, then Set A}

¢ Set A 1.1 questions and Set B 1.1 guestions could both be used as homework, for formal class tests and for
question and answer discussions at different times.

S Hastings, April 2022
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1.1.1 = The dynamic noture of business

1.

Which one word is the key couse of the UK’s
business environment being regarded as dynamic?
Select one answer,

Ll A Investment

LI B Change

L3 € Technology

3 D Momentum

Which one of the following is the latest in
entrepreneuriol endeavour? Select o
L A Space tourism ;
LB World Wide

Which sne of the following refers to the foct that
the vast majority of consumer products will need fo
be repaired or replaced within o determined
pericd of time? Select one answer.

L A Built-in ohsolescence

LI B Moanufocturing

L € Business octivity

L} D None of the above

fn 1991 the late Trevor Bayliss TBE ‘invented’ the

wind-up radic. Which one of the following sayings

kest *fits” this inveniion? Select one answer.

3 A lnvention requires o long-term willingness to
ke misunderstood

Ll B Lost time s never found again

L3 € Necessity is the mother of invention

L3 B You can never plan the future by the past

Which sne of the following is not a new business
idea? Select one answer,

LI A Davelopment of 3D printers

LI B Space travel

L3 € Development of GPS

4 D Production of eleciric motor vehicles

[dentify tweo reasons why new business idegs
generated by entrepreneurs. Selec

D In response to the demand created by
built-in product obsolescence

E To generaie competition between
businesses

o o ad

7. Which twe of ?he%

Q. Inordertobea

in the deveiopme%
fweo answers, &
A lgnoring
competit
4 B Ignoring
demand

B Srudying

B¥8
@]
g
Q
1]
w

‘influencer’ prom

R R W
mg W
w
o
o
...i
<

10. Which of the foll
dyrnamic business
Ll A They con

(3 B They are

£
L D They sel
L
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1.1.2 = Risk and reward

1. Which one of the following implies thot o business 4.  Select two ways
underiakes a venture, the ocuicome of which can be the element of ris
statistically calculated? Select one answer. Ll A Reduce
LI A Business loss service

LI B Business uncertainty B Increas
Ll € Business risk 3 € Cngoin
Ll D Business reword (4 D Forwar

4 E Ignoret

2. ‘Which sne of the following implies thot o business
undertakes o course of action, the outcome of which | 5.
is unknown or uncertain and cannot be statistically
calcoloted? Select one onswer.

LI A Business risk

LI B Business uncertainty

L € Business gcumen

& tollowing is the outcoms when a
comes risk and uncertainty? Select one

L A Reward
L B Failure
LI € Loss
-

B Contraction

1.1.3 ~ The role of business enterprise

1. Which one of the following best describes the role 4. In what fwo way

of o business enterprise? Select one answer, value’ to o prod
4 A Provide goods or services for sale only to Select two answ
the general public L A Decrea
LI B Provide goods or servicas for sale only o L improve
other businesses 3 € Bynoic
LI € Provide goods or services for sale to the L4 D Creote
genaral public and other businesses L4 E Llimitits
L D Provide a luxurious lifestyle for all its
stakeholders 5. What ore two
enterprise? Sele
2. When does business activity actually ocour? Select L A Provide
GRE ANSWET. L4 Satisfy
L A When on entreprensur thinks that they can ¢ Maxdmi
dominote g market 1 D Provide
B Only when the government provides 3 E Limit the QQPYR;@HT

[

incentives to entrepreneurs,
3 € Only when an enir
resoyrces o
01 .

PROTECTED

: aur identifies a market
“oction 1o satisty it

3. Which one of the following is not o role of
entreprensurship? Select one answer.

A Qrganise business resources

B Promote risk adversity

& Toke risks

B Muake decisions

(MR WENE W

Multiple-Choice Question Bank for GCSE {3-1} Edexce! Business Page 30f75




1.2.1 ~ Customer needs

1. ‘These are considered 1o be the essential things
customers raquire when buying o product or

service.! What is this describing? Select one answer.

L A Customers needs
L B Custormers’ wants
L € Consumer demand
LI D Consumer morket

2. Which one of the following is not o cusiomer
Select one answer,

(R NENE N

luct or service

3. By using what method can a business identify ond
understand customer needs? Select one answer.

A Market share analysis

B Market growth analysis

£ Market research fechnigues

B Mone of the above

R NE N

L A Toguor
L B Becouse
actions
L € Tomax
Ll D Because i
maKimis
3 E Toplun

Multiple-Choice Question Bank for GCSE {3-1} Edexce! Business
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1.2.2 ~ Marbet research

1. “This marketing tool involves the systematic 8.  Which two stat
collection and analysis of data collected from the market researct
general public.” What marketing tool is this LA lnever
describing? Select one answer, questior

B i deals
and fig
€ it does

L3 A Secondary research
L3 B Desk research

L € Market segmentation
L} D Market research

2. Which one of the following is not o purpose of
market research? Select one answer.

3 A Inform the business of its tax liability

L3 B Inform business decision-makin :

4 € Identify and understand

L3 D identify gops in :

by o com:
E It cannot §
system &

W SR WA W
Q
o
T
z

social media for §
bwo answers.
g is also known as “field A I gives

3. Which

reseq
g a 3 B Sucho
LI B Deskresearch vested biy
L € Primary research b € Social me
4 D Secondary research the mos
W D hisare
4.  Which one of these is not a primary research and is ©
method? Select one onswer, W E Absolut
LI A Survey media s
LI B Government reports
3 € Cuestionnaire 10. Identify two re
3 B Observation for o business to
research data.
5. Which one of the following is initially sourced by WA To assis
primary research? Select one answer. informe
LI A Secondary research dota wl B Togiveit
L B Focus group data w € To ensure.
d ¢ Field research data W D Tobereg
i B None of the ahove - forwaord-

E Toimpres
6. Which one of the following is not o method of E
secondary research? Select one answer.

Ll A Referencing market reports

4 B Internal business records search
LI € Reoding government reports
L} D Carrying out surveys

COPYRIGHT
PROTECTED

7. Gualitative research involves gathering
rather than hard statistical foctsdy
disadvantages of suct
Select two answ

4 ot given

s from the sample might not reflect

pinion of the population group

Gualitative data leoks beyond statistics

and can therefore be quickly processed

B Data gathered is eosily computer analysed

E Question-structure bias can quite easily

influence the outcome of the survey

oo O o od
s

Multiple-Choice Question Bank for GCSE {3-1} Edexce! Business Page 50f 75




1.2.3 -~ Market segmentation

1. Which one of the following is the process of
dividing a mass market into targeted sections in
order to more easily sell a specific product or
service to them? Select one answer,

Ll A Market mopping

LI B Market segmentation
L € Market growth

L} D Market competition

2. Whaot element of market segmentation involves

analysing the characteristics of people? Select one

answer,
LI A Demographics
LI B lncome
L € Age

L B Lifestyle

can a business use to analyse
B target potential customers? Select
two answers.

LI A Cost analysis

4 B Morket segmentation

L € Morket mapping

L B Quality control

LI E Labour turnover

1.2.4 - The competitive environment

Which of the fol

of market segm
bwo answers.

A Location
B Waoges |
€ Guaniity
D Guality §
E Income

ooooo

What twe elem
on a market ma

WA Qudlity &
W B Spending
W C Labow &
D Productivi
il E Price :

1. Who are o business’s main opponents in o
competitive environmeni? Select one answer,
- A Employses
B Suppliers
£ Al types of businesses in oll markets
D Al other similar businesses in the same
market

R R R W

2. What particular aspects of its competitors must o
business pay particular atfention 10?2 Select
Gne answer.
3 A Costs and revenues
4 B Profits and losses
L € Strengths and weaknesses
LI B None of the abhove

elect ane answer.
L4 A Unigue starting point

LI B Unique selling point

LI € Unique strotegic planning
LI B Unique selling plan

A business should:
weoknesses of its
criteria. Which ¢
this analysis? Se
' & Price :

Parsonaliy

Product ré

AR RE NN
mg 0

R

&

g

3

&

The prasence of
on an individual
two of the follo
Select bwo answ

L A Pricing s
td Procure
4 € Ressorc
WD Siaffre
W E Owner

Multiple-Choice Question Bank for GCSE {3-1} Edexce! Business
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1.3.1 ~ Business aims and ebiectives

1. Which ene of the following specifically refers to o
kusiness aim? Select one answer.
LI A Never have a time constraint
LI B Realistically unachievable
LI € Long-term ospirational gool
LI B Shori-term aspirations! goal

2. ‘Which snre of the following forms the shori-term
‘stepping-stone’ pathway to achieving o busing
aim? Select ene answer, :

L1 A Business objectives

Slogy audits

3. Which f the following statements about
business aims and objectives is net true? Select
one answer.

LI A They never change
L} B They chunge as market conditions change

L3 € They ore not the same for new start-ups s

for established businesses
LI D They are importonit to oll businesses

4. Business aims and objectives should be SMART.

What does the 'S’ in this acronym stand for? Select

one answer.

L} A Soles

L3 B Special
3 € Superb
3 D Specific

5. Which ens of the following would be cossified as
a business financial aim or objective? Selec
one answer.
L A Becoming independent
LI B Maximising profit
L} € Becoming environmentally aware
LI D Meoosdmising personal satisfaction

6. Which one of the following would be classifi
a business non-financial aim or objs

one answer.

LI A Increosing mer

[;'j B PR

U < carbon-neutral
. g financiol security

What are the tws

MR NENEWE N

its market; how
want to get out

market
M E lLodkof

For what two m
between busine
- Ability

U A
M B
WG

>

b
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1.3.2 ~ Business revenues, ¢costs and profits

1. Which one of the following is ‘the monetary income | 6. How is the breok

that o business receives from its ongoing sales and Select ong answ
investments'? Select one answer. A total var
LI A Expense variable
L B Cost OB total selli
LI € Ravenus cost per

L€ total fixe
fotal var

2. Total cost is calculated by the formula ‘fotol fixed W D total fixe

costs + total variable costs’. Which one of the variable

following is an example of a business fixed cost?

Select one answer.

LI A Cost of commission paid fo the salag

LD Profit

L B Cost of electricity used | before it starts tc:
L € Cost of raw mate: 4 A Breck-ev
W D Costofb : 4 B Margino
W € Margino
3. Which ollowing best defines business D Profit mo
profit? one answer.
L A Excess of costs over revenues Study Diagram 1 and
L3 B Excess of revenves over costs
L3 € Excess of revenues over fixed costs 8. Select the two co
(3 B Excess of revenues over variable costs between which m
autput. Salect twi
4. How is the percentage interest charged on o bank W A lineA |
foon calculated? Select one answer. (4 B lineB
3 A {{rotal repayment — amount borrowed) + W€ lineC
amount borrowed) x 100 3 D lineD
4 B ({total repayment — amount borrowed) + W E lineE

amount borrowed)
L € {{amount borrowed - total repayment} + 9. Which ft’m lines :
amount borrowed) x 100 and “Units of outE
O :

D {{omount borrowed — total repayment) + ""J A Lfne A
amount borrowed) W B LineB
W € LlineC
5. Which one of the following lets a business know :j D Lina D
how many units of product it must produce in order Wl E LineE
to reach its break-even poini? Select ong answer.
LI A Morgin of safety 10. ¥f ling E remains

two lines would
line G% Select tw

L B Breok-even level of sales
L3 € Break-even level of output
3

B MNone of the above ﬂ A line A ;
W B Llined
d € neC | COPYRIGHT
= ine
O E Linef PROTECTED

Diagram T — Break-even dicgram

Multiple-Choice Question Bank for GCSE {3-1} Edexce! Business Page 8 of 75




1.3.3 - Cash and cash flow

1. What is said 1o be the 'lifeblood’ of any business? 6. What fwo impo

Select one answer. construction of a
LI A Cash L € Fixed assets forecast have o
W B Profit W D Copital oA
4 B
2. Why is cash so important to a business? Select
QNE ANSWET. i cC :
LI A Bacause it is not an asset WD Focilitate;
4 B Toenable it io moke payments due L E Make for
promptly
LI € It shows that the business is profitable Consider Table 1, belds
L B None of the above 7 1 10 :

What is the ‘et
balance’ for the

3. I a business is insolvent, what does this m
Select one answer,

LI A It cannot stick to answers.
LI B WA [£2,000)
8 B . B £2,000

O € (£22,000

4. Which the following statements is not true? B.  What are the ‘O
Salect ane answer, balance’ for the i
LI A A business’s cash flow is not the same as hwo answers, :
its profit W A £5,000
LI B A business’s cash flow is the same as its L B £4,000 5
profit W C {£4,000)
4 € Cash flow is how money moves in and out
of a business @,  What are the 'T
LI B Cosh flow includes money in o business for the month of
bank account A (£11,00

4. For what two reasons might o business experience
a temporary negative cash flow crisis? Select
fwo answers. 10.
L A Anunexpected but essential one-off capital
expenditure
LI B lIncrecsed HP paymenis on on existing
capital asset
€ Dedlaration of insolvency
D A temporary cash flow problem with one of
its debiors
A permanent cash flow problem with one
of its creditors

g0
[33]

COPYRIGHT
PROTECTED

Cash inflows

Houtflows
Purchases
Overheads, e.q. electrichly, rates
Total cutflows

“‘Nei cash flow

kbpening balance 3,000
Met cash flow =
Closing balance

Multiple-Choice Question Bank for GCSE {3-1} Edexce! Business Page 9 0f 75




1.3.4 — $ources of business finance

1. Which fwo factors will be considered by o
potenticl lender when o small business is

attempting to source finance? Select fwo answers.

& The education level of its workforce

B Whether it is o new start-up business

€ Whether it is an already established
business

B The type of product or service it provides

E s monagemeni struciure

OO ooo

2. Which two of the following are not long-term
sources of finonce? Select two answers.
4 A Crowdfunding
4 B Venture capital
L3 € Shore capital

3. In whot B ways might o smaoll business use o
source of shori-term finance, such as o bank
overdraft, to keep o positive cash flow? Select
two answers.

L3 A Topoy for o sudden, unexpected but
necessary repair to an important fixed
assal

B To cover o sudden, unexpedcied but

temporary foll in regular cosh income
€ To pay for a new item of capital
equipment

B To facdlitote maximising its physical

footprint

E To regularly pay for day-to-day

running costs

0o oo

Yenture copital
finance for an

LI A
3 B
L C
I
i E

ethical
They in
a profi
Return

Iis o ldy

COPYRIGHT
PROTECTED
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1.4.1 — The options for start-up and small businesses

1.

‘The owners of o business are liable only for the
amount they have invested in i, irrespective of
what the business’s outstanding debts amounts are.
Which ene of the following is this referring 102
Select one answer.

LI A Unlimited liability
LI B Limited liahility

LI € Profit sharing

L3 B None of the above

How might the concept and
liability” be « benefit to ¢ sl

hership? Select

rage its competitors

urage creditors to give it extensive
credit

3 € Encourage investors

4 D Discourage investors

The owner of which one type of small business hos
unlimited liability? Select one answer.

L A Scleirader

LI B Private limited company

LI € Llimited partership

LI D KNone of the above

Which fwo of the following are the most likely
types of business ownership for o small, start-up
business? Select twa answers.

- A Sole trader

Private limited company

Public limited company

Multinational corporation

Global conglomerate

I W W W W

L v e I~

Which fwo of the following are advantages to the

owner of being o sole troder? Select two answers.

& Profit sharing

Unlimited Hability

LI € Profits do not have to be shared

Ll D Protection of limited lability

L} E Speedy implementation :
decisions made :

N

gare discdvantages to
y partmership? Select

L Not being protected by limited liability

L3 B Being subject to the Partnership Act 1890
in the absence of a portnership agreement

3 € Shoring of any partnership losses

3 D Possibility of personality closhes between
pariners

L3 E Burden of responsibility for management

decision-making is shored

7.

Which twe of the.
shareholders of o
fwo answers. &
L A Their actg

protected

-
,
,

fo starting up o
Select twao answ

4 A Seliing
W B Seliing
€ Selling g¢
public &
Jd D The saller

L E The seiie%

Franchising has it
for both the frang:
the following are:
franchisor? Select:

oA

business to consi
1 A The bus

0
4 € The bus
iod

4 E The bus

Multiple-Choice Question Bank for GCSE {3-1} Edexce! Business
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1.4.2 ~ Business locetion

1. Apart from the nature of the business itself, what 4. What twe impact
other tweo considerations might owners of ¢ new, Iinternet had on b
small business take into consideration when businesses? Sele
choosing o UK locotion for its operation? Select two W A Madesit
CNSWETS. L B Moimp
LI A Guality of their decision-making L € Increas
3 B Proximity to the customer market (4 D Theenc
3 € Availobility of suitable labour E-COMIM
4 D Their predominant management style I E Fixedlo
LI E The opinion of their competitors atwarys

2. What twe factors might more strongly influence
appropriatensss of the location for o po
manufacturer as cpposed 1o the |
manufacturer? Select hw :

consider when ¢
local caté as co
catalogue disiri

D Proximity fo row material input
E Availability of skilled labour

3 A Potentia

bt Internet

Ll d € Running

Estructure L D Physica

L3 € Tronsport infrastructure 4 E Easeof
[
[

3. Which two types of business would most
preferably choose o set-up location with a high
quality and quontity of university graduates in
computer and elecironics? Select fwo answers.
2 A GPS manufacturing business

CAD/CAM of integrated circuit boards

Car sales showroom

General scrapyard
An organic garden centre

R NENE W
mg oW

COPYRIGHT
PROTECTED
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1.4.3 =~ The marketing mix ‘
1. Which one of the following is the prime and 6. The COVID-19 p

overriding purposse of the marketing process? on consumer neﬁcé
Select one answer. dramaticatly an

L A Moximise soles all businesses, O

Wl B Rsduce costs mix of small busis
L € increase productivity ONe answer.
W B Minimise profits wl A Price :
Wl B Price ang
2.  The buasic marketing mix, or 4Ps, is the optimum € Price, pras
integrated combination of which four elements? L D Price, pro

Select one answer,
3 A Price, practice, promotion and planming

Which two s*-;-ieme-:E

4 B Price, product, persistence and been most impa
i € Price, production, promat e-commerce an
L3 D Price, product, g : bwo answers,
L A Price
3. Amor 4 B Product
increa 4 € Promotiot
sales. VEEEHoes it basically involve? Select 4 D Pluce
one answer.,
4 A Increasing the business’s productivity B, If o business deci
4 B Toially eliminating oll competitors its product, wha
L3 € Tweaking the marketing mix so os to expect from ¢o
properly appeal to the target market id A Reduce
LI D Motivating the workforce - B increcse i
d € Embaork
4. Which one of the following is not frue about the 4 D Ceoset
elements of the marketing mix? Select one answer,
L} A They ore integrated 9. What fwo elem
LI B They ore not infegrated likely to be the
4 € They are interdependent Select two answ
3 B MNone of the above L A Product
I B Price
5. ‘A good marketing strategy will ensure that if o 4 € Ploce
business’s competitive environment or its philosophy D Promoti
changes in any way and for any redason, so 100
should its marketing mix.” With reference to this, 10, What two eleme;
which one of these statements is frue? Select likely to be the sk
ong answer. Select two answe
LA Very true in all circumstances L A Product
B Cnly true depending on the degree L B Promot
of change L € Price

b
L € True but only if it can be planmned I D Ploce
L

Not at all true under any circumstances

COPYRIGHT
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1.4.4 ~ Business plans

1. A business plan is o written document prepared for | 4. Which two of the

a business ideally before it starts fo trade. What Included as sectd
two important roles does it have to play in the two answers. '
business? Select two onswaers, A Foreign ¢
Ll A ldentify the best method for recruiting ond Finunce

ooooo

selecting employess € Global
B ideniify and present o business’s idea D Marketi
€ Identify and suggest o successful E Human

management strategy fo adopt
D identify o suitable senior management 5.
ream for the business
E identify ond present an integrated
marketing strategy :

I WA WS W

A Sell the
owners

el B Showit

2. Why is it vsually importa 3 ¢ Showit

be drawn up? Seleg e,

U Al S maximum profit s always )

the business
L1 B Efimise the purchase of fixed assets 1 E
3 € Soitconact us o reference guide to judge
performance over time
LI B To minimise the risk of business failure
L E b will ensure business success

3. Under whot twe circumstances might it not be
possible for o business to draw up o business plan?
Select two answers,

LI A& When new competitors suddenty and
unexpactedly enter the market

B When very rapid changes in technology

impact the morket

When it is o new business

L When it is a social enterprise

E When it has no competitors

oo o
3

COPYRIGHT
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1.5.1 ~ Business stabeholders

1.

What general term opplies to any person, group or
organisation that has financial, social or
environmental interests in the activities of o
business? Select one answer,

LI A Accountani

3 B Sharehoider

4 € Stokeholder

LI D Auditor

Which ene of the following might be e
stakeholder grouping of o bug
Qe ANSWET.

ey alf are

A well-used local oty bookshop decides 1o expand

by aperating o new diesel-driven mobile bookshop

serving an entire county. How mighi this action

impact its two stakeholder groupings of ‘owners’

and an ‘environmental prassure group’® Select

tweo answers.

LI A Owners would feel the pressure of the
need to deliver success and profit

B Cwners would have 1o encourage people

fo read more

Environmanial pressure group would be
disiliusioned with the use of diesel

B Environmental pressure group would he
delighted thot petrol was not used

E Environmental pressure group would get
involved in driver training

VR W WA W
©

in what fwe ways
impact on its davyi
fwo answers. -
Refuse 1o
All-out s

000
TO® >
el
5
.

]
L34
3
o

~

MR NENEWE N
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1.5.2 -~ Technology and business

1. What is the name of the process of buying, selling 7. What element, of
and paying for goods or sarvices over the Internet? will be directly in
Select one answer. technology into
LI A PayPdl one answer.
LI B Social media 4 A Product
LI € TikTok L B Product
Ll D Electronic commerce L € Product

2. What is the generic name given to the wide variety
of elecironic networks of information-sharing 8.
plaiforms such as Facebook, YouTube und
WhatsApp? Select one answer.
LI A Social media
LI B Internet

L € LASER ol
L B multim
8 : b € Theuse
3. What i ‘of the process that involvas and sell
people’ ing and receiving information by 4 D Theuse
means of any elecironic computer-based and sell
technology system; for exomple, email, wabinar,
smartphone, Zoom? Select one answer, @.  Which of the fo
L A Analogue communications advantages 1o
L} B Digital communications Select two answ
L1 € Rotiongl communications 4 A Anobili
L3 B Ariel communications (4 B Guaron
4 € Anincre
4. Inrecent times, instances of the use of actual L D Asecur
physical cash to moke payments have greatly paymen
declined. This has led to the coining of which one of W E A world
these terms? Select one answer.
L} A Credit cord 10. Which tweo of th
LI B Bonkcard impacts for o m
4 € Cashless society introducing o ne
4 D Cash-strapped socdiety workplace? Sal
A Animm
5. How might the effective application of improved wastog
technology in o business environment impact its 4 B Along-
sales? Select one answer. produci
L3 A Increase them € Anincre
L3 B Decreose them D A short-

L} € Have no impact of all ) product
L3 D rone of the above '

COPYRIGHT
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6. i o business decides to update its infern
network, as well as invest in v
expensive computer-aid

equipment, whic wing costs is it

directly B2¢ one answer.
4 A%

i B varicble

L € Unit voriable costs

LI D Fixed costs
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1.5.3 ~ Legisiation and business

1. ldentify two reasons why there is o need for
consumer legislation. Select twe answers.
LI A To protect sellers against false consumer
allegations
B To proted sellers against themselves
€ To protect customers against poor-cuality
products or services
B To protect consumers against bad business
practices
E To protect consumers against themselves

0 o Cco

2. Why is there UK employment law? Select tweo
answers. -
LI A To protect employees ag
induction training ;
B Topro vom unfair
oy SGttices regording pay
tedt employees against legal action
BUstomers
B To protect employees against excessive
cosi-of -living costs
E To protect employees agoinst discrimination
at work

0o o o o
©

3. Which of the following are two basic employer
requirements of the Health ond Safety at Work
Act 19742 Select two answers.,
LI & To make first-aid equipment and resources
aasity avallable ond accassible
B To make the poy grades of all employees
freely available for ol to see
To ensure that ail employees have a dear
progression poth
B To make fresh drinking water available for
abl employeeas
E To ensure thot all employees always wear
fire protection safety clothing

0 O o O
3

Under the Heaolr
which tweo of th
requirements fo
Select hwo answ
A Toke o

Multiple-Choice Question Bank for GCSE {3-1} Edexce! Business

Page 17 of 75

COPYRIGHT
PROTECTED




1.5.4 -~ The economy and business

1. One measure of the state of the notion’s economic
climate is the overall level of employment within a
country. For what twe reasons might o person not

be in gainful employment but may not be clossified

a5 fechnicaily unemployed? Select two answers.

LI A They have inherited weaalth and do not
need fo work

LI B They are in full-time education

Ll € They are not legally entitied to work

Ll D They are not physically able to work due to

a medical condition
3 E They do not wani to work

2. Which two of the following w
likely outcome of an iner
consumer income? §
A

srall demand for luxury
| services

and services

3. How might on increase in UK interest rates impact
the average consumer? Select bwo answers.

A Encourage them to emigrate

Discourage their spending

Encourage them to save

Encourage them to borrow

Discourage them from borrowing

Loooo
mg W

W ] fse in overall demand for luxury
goods and servicas

L € Increase in overall demand for everyday
basic goods and services

L3 B Decreose in overall demand for everyday
basic goods and services

LI E Decrease in the supply of luxury goods

In simple terms,
of monay to con
might o proleng
business? Select
(A

would b

COPYRIGHT
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1.5.5 -~ External influences

1. A business will attempt 1o control all factors that 4. If the government
influence it. However, there are some important Hational Living W
external factors over which o business has no direct short-to-medium
contrel, What are bwo such factors in the list below? for a small labo

Select two answers, answers.

L A Pricing strategy A Smald
3 B Government legisiotion L Large |
3 € Economic climate € Aslight
4 D The working population W D Anexte
3 E The actions of competitors 4 E Permon

2. Developmenis in technology create external
influences that cannot be directly controll
most businesses. However, for a b
have direct conirol over :

overall business
sudden change
bwo answers.

what fwo impacts o 4 A long-te
on it? i posed b
LI A (4 B long-te
opporiy
LI B Increase its potential target market W € Review of
L € Couse its total variable costs o D Consumet
dramatically increase 1 E Consumet
LI D Pose o threat to it by causing its existing :
products to become cbsolete
LI E Dromatically reduce its fixed cost

expenditure

3. In whoat fwo ways might o smatl cash-strapped
business respond to o VAT increase imposed by the
government? Select two answers.

& Absorb at least part of the VAT increase

B Absorb the full increase in VAT without

exemption

€ ignore it by non-complionce with the

increase

D By not completing the VAT return form

required by HMRC

E Increase the selling price of those goods

subject to the VAT increase

AU T R W W
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2.1.1 — Business growth

1. Why is it financially important for most businesses
to strive to grow? Select fwo answers.

A To create an image

B To help them better deal with market
competitors

€ To satisfy consumers

B To make employees feel secure

E To become more physicolly dominant in
their market

COoOo oo

2. Which of the foliowing are we
imternal, or organic,
bwe answe ‘

d into new markets

ger with other businesses

D Voluntary takeover of other businesses
E Hostile takeover of other businesses

pgoood
03

3. External, or inorganic, growth con be achieved by
which two of these methods? Select bwo answers.

& Altering the marketing mix

Application of technology

Merger

Tokeover

goooo
w0 s

innovation

A business con gri
company. Whic
about this type

A s mem
fobility
3 B 1t haossh
L€ I hos stal
WD It comno
il E ithasn

opposed 1o use
mediuvm-fo-larg
' A Unsecur

Use retoi
Sale of i
Unsecures

MR NENEWE N
g W
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2.1.2 ~ Changes in business gims and ohiectives

1. Which two of the following faciors are most likely 4.  The aims and o
to impact the aims and objectives of o developing product ronge ¢
and evolving business? Select wo answers. grows and exp

LI A Morket performonce stafements are §
LI B lInvestor apprehansion product portfoli
LI € CGovernment legisiation WA Asmallng
d D Competition between its suppliers smailer p;
L E

World conflict astablis
[ B A small

2. ‘Which twe of the following business models are portfolic:
most likely to focus their aims and objectives on C Alargep
market survival above all others? Select ensure ki
fwe answers. D Alorgep
Ll A A smoll established busin risk of b

expanding mark g E Alorges

L small Himi
a
5. If o business has
U o susiness under the threat of serious domination, for
competition exit that market
L} E A profiteble multinational conglomerate answers.
4 A Compli
3. What two reasons might be responsible for o « B Toprot
business having aims and cbiectives eventually wl € Togene
involving o reduction in its workforce? Select L D Morket
two answers. collaps
L A The increasing availability of off-the-jcb I E Tooma
training schemes competi
L3 B Increasing cost of technology
L € Increasing cost of labour
L3 D Falling cost of labour
LI E Desire to becoms more technologically

engaged
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2.1.3 ~ Business and globalisation

1. The fact that the world is considered as ‘shrinking’ 6. Which one of the

in terms of frade, communication and fravel is ax on the goods:
referred to as which one of these? Select from abroad? Sej
one answer. WA Tariff

L A Global warming B Guota

LI B Social media syndrome 4 € VAT

L € Commercialisation 4 D Noneoft

L} D Globalisution

What fwo adva

2. When UK businesses buy in goods and services
from foreign countries what is this called? Selact

one answer,

LI A Importing
LI B Exporting
L € Troding

W B Comm

& tollowing is the best and fullest

defini FEUK exporting? Select one answer., B.  Which two cour
L A UK businesses selling goods to foreign realistically tok
countries an international r
4 B UK businesses buying goods from foreign WA Makem
countries and ele
LI € UK businesses selling goods and services to 4 B involve
foreign countries W C ignoret
L3 B Goods and services being sold to UK infernat
businesses by foreign countries - B Bearro
4 E Selectivel
4. Developments and improvements in Infernet marketi
provision, the relative ease of website development
and the increased facilities for secured online 9. Which two of
payment processing make which of the following frade? Select tw
factors of least consicleration for the location of ¢ 3 A Political
ragistered office of an international trading o Stable
business? Select ene answer. 01 © Tariffs
LI A Cost of premises O D Tradeb
LI B Locotion of premises 1 E Tradeb

Ll € Eose of physicel access for customers
Ll D Interncl design of premises 10.

5. Which sne of the following words best relates to o

internationally?

multinational corporation? Select one answer. 1 A BRetter-ed

LA Micro B

< B Small Q¢ COPYRIGHT

LI € Locul

L2 B Tronsnotional 3 D PROTECTED
B OE
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Z.1.4 ~ Ethics, the environment and business

1. In whot twe ways might o business’s ‘ethical 4. In what fwo w
credentials’ be effectively measured? Select two
answers,
L A The working conditions of its employees
LI B The amount of profit it makes
LI € The number of workers it employs
L3 D The sourcing of its supplies
LI E The number of computerised machines

it has

in whot fwo w
business’s mar

2. Which two of the following might result from o
kusiness acting in an ethical and socially
responsible manner? Select twe answers

4 A Guoranieed market g

B Employee unrest

C Increase

pplier loyalty
&"in customers

guouaos

3. What are the fwo most Hikely environmental issues
concerning o business today? Selact two answers,

4 A Profit moximisotion

The extent of its impact on global warming

Cash flow

Its rate of tabour turnover

R NE RNy
mgONw

Its contribution to renewable energy
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b B By pi‘@dut‘&

1. Which two of the following are not components
of the product design mix triangle model? Select
two answers.

A Aesthetics

Function

Cost

Selling price

Obsolescence

goood
™Iy W

Study Diagram 2, below, ond then answe
210 4. :

2. Whot labels shos in on the y-axis and

A

B TWaxis: Time
L € x-axis: Output

B x-axis: Time

B x-axis: Sales

3. During product life cyde phase C, which of the
following two events happen? Select fwo answers.

A Sales are of their minimum

B Sales become maximised

£ The product becomes firmly established in
its market

D There is still potential for sales to expand
dramestically

E The product inevitably dies and is taken
off the market

o 0 oad

Diogram 2 — Product life cycle

A A Introduction B Growth

Letter C

Lefter B

3

2 B

3 € letter
D

L E LletterF

For what fwo r
the process of
Select two ans

0 0o 0o
o]
3
3
g

frading

C Matyrity D Dacline
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2@292 oot pﬁ“iﬁ@

1. Which one of the following is ‘the amount of money o | 4. Basically, o bus

business charges Its customers when they buy iis or ¢ high-price
products or services™? Select one answer. chooses o low-p
LI A Expense which one of th
L B Cost implication for i
LI € Price I A Highsa

L D Profit W B High sale
- € Llow sales
2. Which one of these is the name given to a method = D Low sales

used by a business to establish the best selling price
for its product or service, so as to maximise and
maintain its profits in a dynamic market? Select

Which one of The%
nfluence o busina}:

one answer. one answer.

L A Marketing strategy L A Thelev

LI B Pricing strotegy L B ltsexpe

L € Production: L € Thelev

HEL N gy competi
d D The lav

Y ollowing factors would impact the

pricing decision of a business? Select one answer.

L A The cost involved in its manufaciure,
promotion and distribution

Ll B The image thot it has creoted and intends
1o uphold

LI € lis market demand end availability

L D All of the above

2.2.3 ~ Promotion

1. Whaoat are the fwo reasons why o business promotes | 4. Which twe of ?he:

its products or services? Select bwo answers. medio ‘product
4 A Toinform the public about products or WA lisaprg
services it sels 4 B lfisam
L B Toreduce its costs € lisasu
LI € To ensure its financial survival D inever
L B To appease its employees L4 B diisintene
LI E To persuade the public to buy products or auclienc
services it salls
5. For which of the
2. Which two of the following ore elements of o below is access
business’s promotional mix? Select two answers, . technologies, ab
LI A Employees
LI B Advertising E-news! COPYRIGHT
W € Trade unions Social PROTECTED
LI D Sales promotion BOGO
LI E Competitor Persona

: Hoarding:

& two main aims of an effective :

i strategy mix? Select two answers,

LI A Toinform potential consumers onty about
the physical aspeacts of the product

LI B To closely mirror the product’s life cycle

L € Rasult in an immediate short-term increase
in sales

LI B Increase the business's production output

L} E Crecte o brond loyalty and so lecd to
meadivm-to-long-term repeat purchasas
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1. What are the fwo most imporiant functions of the 4. What are the twi

‘place’ foctor of the marketing mix? Select between produ

twe answers. bwo cnswers. :

LI A Get products to the right place for A Assist the
convenient purchase by consumers issues o

LI B Make sure the selling environment is B Provide f
suitable for customers Buy in bul
L € Get products to their selling point on time D Sell in sm
o satisfy consumer demand 1o the fing
L3 D Scurce products efficiently from suppliers Check ’fh€§

(3 E Security of the retail outlet producer:

Lo
2

B
3%

Which two of ﬂ‘heé
seller of o produg
Select two answe

2.  Inorder to be considered an e-tailer, wha
facilities are absolutely essential
have? Select two answe :

L3 4 A They ar
L B _. s d B They ho
L < pin knowledge of Microsoft Office oppory
3 D WSS to the Internst 4 € They ar
LI & Appropriate storage focilities L D They get,

E Customer,

3. Who are the only two entities involved in o direct
channe! distribution system? Select fwo answers.

A E-tailer

Producer

Final consumer

Retuiler

Wholesaler

gaooda
Ry 0y W
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2.2.5 = Using the marketing mix o mabe business deaiﬁ@rs;

1. The fact that oll elements of the marketing mix are | 4. Apart from price;;
interdependent and reliont on sach other results in marketing mix co

the "coining’ of which of the following terms? Select a competitive ady
one answer. 1 A Product @
L} A The marketing mix d B Plowe
LI B The integrated marketing mix € pPromotion

d € The product mix LD Allof the
(3 B The design mix
5. Which one of the
2. How might the product element of the marketing why an effective
mix impaoct its price? Select one answer. positively impact
3 A If ¢ product is promoted as exclusive advantage over

needs to be priced high L4 A Because
LI B If uproduct is promoie impact th
needs to be prica L B It negate

L} € Promotion fa he place slement L C it facilita
about th

L o does not impact any other D Anintegr

fent of the marketing mix on COMPE;

3. How might the product element of the marketing
mix be used to goin a business competitive
advantage over rivals? Select one answer.

& The marketing mix element ‘product’ cannot

impact competitive advantage

B By selling o higher-quality product ot o

higher price than their rivals

By selling o lower-quality product ot o

lower price than their rivals’ products

By highlighting o unique selling point for

their product over their rivals’ products

&

£
e}

£
=
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2.3.1 — Business operations

1. What is the basic purpose of business operations?
Select one answer.
LI A Produce goods and provide services
L B Always maximise profits
Ll € Be environmentally friendly
L D To provide employment for local people

2. Which one of the following best explains the
production of goods as a whole business proc
Select one answer.

Ll A lnput ond output

LB lnput, pro :

L C e sutput, distribution for
; tail

L D Rprocess, output, persuasive

advertising

3. The production of o one-off and unique bespoke
product is an example of which one of the
following types of production? Selact ene answer.
L A Job

LI B Baich
b € Flow
L D Mass

4. Why might the production of o unique ond

bespoke product be particularly problematic for

a business? Select one answer.

L3 A They are not under pressure to produce o
quatlity product

LI B I puts their reputation directly on the line

3 € They can aofford to produce o
substandard preduct

Ll D Producing baspoke units is not at ol
particstarly probiematic for o business

5. Which ens of the following does flow production
most fend itself 107 Select one answer.
Labour intensity in the workplace
Artisan workmanship
Automation
Extensive and irrever
the workfo

S
Lol e - T

of prodition system is in operation? Select
ong answer.

A Flow

B lJob

£ Mass production

B Baich production

(M WENE N

16.

Why might o
production me
order? Select

(3

LR R W

(3

(3

poo o

A To ens

g0 w
5 i
o]
=t
o
o

£ owill
B Work
E it will

prody
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2.3.2 = Weorking with suppliers

1. What is the primary purpose of stock
management in o business environmenti? Select
one answer.

A To make sure the business makes a profit
B To make sure that the business always has
sufficient stock o fulfil o customer order

& To encourage overstocking

D To make sure the business remains

competitive

go do

2. ‘Which sne of the following is a traditionol stock
conirol system that encourages the holding of o
minimum buffer, or reserve backup, stock just in
case it is needed to fulfil an order? Select
one answer,

L A Just-in-time stock contrp

business has row material stocks available only
when needed for production and completion of o
customer order? Select ens answer.

3 A A just-in-time stock control system

L} B A troditional stock control system

L € A bor gote stock control system

L D An order-based stock control sysiem

4. Which one of the following con  business rightly
regard as stock? Select one answer,
I A Raw materiols
LI B Workin progress
L3 € Finished goods
W B Al of the above

5. What is the name given to the process of o
business buying in raw moterial stock to turn into
finished goaods, or buying in finished goods 1o sell
to its customers? Select one answer.

L A Logistics

3 B Srock procurement

L} € Bor gote stock control
L3 B Jusi-in-time stock control

10.

stock controf chart

Study Diagram 3, be
and 8.

Which one of 1
business plans,
movement of p
from suppliers
custormers? Sele

LI A Stockn
i B Bargu
W € Logisticg
L D Procure

S

In the bar gate
what do line A

CNSWETS,
LA LineA-<
3 B LineB-
L C LtineC-
3 D lineb-4
LI E

Line E -

in the bar gaie
what do fine C
GNSWETs.

Line A
Line B
Line C -
Line D =
Line B -

LURLU
MO OB

Which fwo of ?h
of o good relat
and its supplierg

A Quality:
I B :
.
L D
tE

Misfrusi’%

Poor logistical
decisions made
which fweo of th

COOOo
MW
=
&

&

e e e
Ling D

®
b oLine C
A

C

Line E
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2.3.3 ~ Managing guality

1. How might the quality of a product or service be 4. How might good
vitimertely measured? Select one answer, business? Select &
L3 A By the price of the product or service I A Byaite
L3 B By the durchility of the product or service 4 B Bycont
4 € By the extent to which its provider's ld € Byensu
expeciations are met i D Byensu
L} D By the exient to which s user’s its expe

expectations are met

2. Which ane of the following would usually involve o
one-off, end-of-preduction-run, sample check?
Select one answer.

L A Quality assurance

LB Quality conirol

L € Quontity assuran

D Competit

& tollowing is @ certifiable,

g oing process of checks and balances
that o business employs to make sure that its
product or service is delivered to the final consumer
defect-free? Select one answer.

A Quantity assurance

B Quality expectations

£ Quality assurance

D Guality control

Looo

2.3.4 —~ The sales process

1. Which sne of the following processes is a system 4. For which tweo
of logical incremental steps o solesperson should be considered
go through in order to effect an actual sale? process? Selec
Select one answer. L A Because
L A Costing process entou
LI B Purchosing process L3 B Becau
L € Sales process 4 € Becau
L3 D Recruitment process intere

knsowt

2. What is the overriding importance for o business LI D Becau

of always providing good customer service? the pr
Select ane answer.

4 A Environmental image protection
3 B Discouragement of repeat sales

COPYRIGHT
PROTECTED

5.  An ‘ofter-sale
sales proceass.
warys that this

3 : are not stages in the L A Sellth
sales Sct two answers, MG

L ner engoagement L B Offer

L B lustification of pricing policy ) after

3 € Efficiency of service € Offer

LI D Product ignorance pre-o
L3 E Post-sales service LI D Provid
depa

LI E Force
on pro
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2.4.1 —~ Business calculations

1.

Study Table 2, below, and then answer questions 3 1o 4.

3.

A business trades and so gets sale revenue income.
I also incurs costs, and consequently makes o profit
or « loss over a irading period. In broad tarms,
which sne of the following best defines u business
foss? Select one answer,

Ld A Excess of sules revenue over costs

L3 B Excess of costs over sales revenue

L3 € When sales revenue and costs are equal
LI B None of the above

Costs take the form of thoss mcurred
the actual goods for trading, o
general expenses of dav
this, whmh one for

n light of
ates gross

nue plus oll selling expenses
Ffrevenue plus cost of sales
ales revenue less cost of sales
& Sdales revenue less all selling expenses

What is the gross profit for Year 12 Select
one answer.
LI A £30,000

I B £40,000
L € £50,000
W B £70,000

What is the net profit for Year 2% Select
one answer.

WA £20,000
J B £30,000
LI € £10,000

L} B rone of the above

The gross profit margin con be used o compare the
profitability of a business over Hime. Whot is the
gross profit margin for Year 12 Select one answer.
L A £30

LI B 30%
L € 40%
LI B z40

6. What is the net pi
ORe unswer. ‘

WA 40%
W B £40
€ 30%
- D £30

7. I the net profit
| one of the folio
Select one answ
L A For every
£16.67 v
d B Forevery
£16.67 v
it © For every
worth of
4 D Forever
£16.67

8. Profit margins are
performance on i
o business o judgs
options it is prese
(4 A Average
L B Grosspr
€ Netprofiy
L D Average:

Study Table 3, below

Q. What is the ave
choice A2 Select

4 A 13%
W« B £13
W ¢ £26
W D 26%

10. Consider ‘Choice iy
Table 3. Then, usit
criteria, identify
Select one answ
A Choice A
m! B Choice B

Yeor §

£100,000

st of sales

£60,000 £70,00

Running expenses

£10,000 £30,000:

Table 3 ~ Passible investment choices

Invesimentis Choice A Choice B Choic%
Yr. O initicl cost outlay £100,000
Yr. 1 profit from £45,000
Yr. 2 profit from £35,000
Yr. 3 profit from £25,000
Yr. 4 profit from £15,000
Yr. 5 profit from £10,000 .
Average rate of return . 21% 18%
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2.4.2 ~ Understanding business performance

1. What is the name given to raw numerical business 6. Which of the follg
dato thot can be counted, verified and stotistically correct? Salect tw
manipuloted? Select one answer. - -
L A Qualitative business data
L B Quantitative business data dates

£
=
3
3
Q

~
-

L€ Stotisticolly approved doto 1 € Secondar:
L D Siatistically sensitive daota in nature::
3 D Seconda
2. How might quantitative data be used in o business in natur
context? Select ane answer. 4 E Second

L3 A To support business decision-making
LI B Tohelp make more informed busingss

decisions ;
4 € Tojustify business decisio
LI D All of the above :

A I conng
3. : aris to presant W B lconb
i audience, which of the following €l conno
ost important basic considerations 4 D licanb
that must be given to the prasentation? Select puUrpose
bW onswers. I E it shows
Ll A Always dearly label and scule each axis farget n
on the presentation’s chart or graph
LI B It must be In colour 8.  Market data is
LI € 1t must be presented using Microsoft segmented mar
PowerPoint specifically reps
LI D Always give the presentation’s chart or Select two answe
graph a very clear fitle L A Age A
L} E lInconsistency between the scales of similar 4 B Education
charts and graphs is essential 3 I o 5
- D
4. From the list below, which are the only twe types of -
purely financial data? Selact two answers,
LI A List of compony directors 9. Which bwo of the.
Ll B List of stokeholders way of comparing
LI € Enployee complainis records performance? Sel
L D Breok-even chart LA Withits
L3 E Cash flow forecast LI B Withth
business
5. Which of the following two statements are correct? L € withth
Select two answers, business
L A Marketing data does not provide o L D Withth
business with quantitative information o simila
L3 B Morketing data can provide o business 4 E Withth COPYRIGHT
with quantitative information differen
4 € Marketing data can p ; PROTECTED
with qualitative | 10. Which fwo of the.
0O D provide o if data is to be ug
Santitative information informed decisio
L ES ding data is never totally reliable WA It mustbe
B it must be
€ it must be
O D imustbe
statisticial
L E

It must be
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2.5.1 ~ Oroonisational structures

1.

Which ene of the following business organisations is
most likely to have o tall hierarchical structure?
Select one onswer.

L A Morket stall troder

L3 B Local fish and chip shop

LI € Locol hairdresser

LI B Multinotional corporation

Which ane of the following might be classed
disadvantage of a floi-structured orgng
Select one answer.

In which ene of the following organisations would o
flat structure be whelly inappropriate? Select

one answer.

4 A Corer retail shop

L B Small farm holding

L3 € The military

L D Morket stall holder

Which of the following could be o criticism levelled

af o business with o centralised monagement

structurs format? Select one answer.

L} A Lack of accountability of entities far from
central head office

I B Siow to react to change

L € Lack of aims and objectives for ali parts of
the business

LI D KNone of the above

Which one of the following is least Hikely fo suffer
from problems with effective communications?
Select one answer.

& Large centralised organisation

B Tall hierarchicol orgonisation

€ Very large multinational corporation
B Small flot-structured organisation

oo

Formal communi
be used in whic
organisational leg

A Tall hier
L4 B Flatsiry
W € Decentr
I D Mirob

A Fmailm
i B interncl
4 € Wordo
L D Webinag

employer to off
option to emplo

L A Parttim
L B Full-tim
€ Sewson

Which one of #
extensively sing
crisis? Select on
- A

B
I
W oo
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2.5.2 - Effective recruitment

1.

Which one of the following is the very latest
‘employment-status’ term to be referred 1o by the
general public? Select one answer.

LI A Part-time working

LI B Full-tims working

LI € Ramote working

L} D Flexible working

There are many different job roles with different

fevels of responsibility in many smoll UK companies.

These include compony directors, department
managers, supervisors, shop-fioor workers an
auxiliary support staff. Which one groupi
not directly contribute to the ac
operation of the business’
one answer.

D Hoor workers

3 D Company directors

Which ene applicant recruitment document does o
kusiness draw up in order 1o help select the best
type of person for o job? Select one answer,

L A Curriculum vitae

L3 B lob description

L € Application form

LI D Person specification

2.5.3 - Effective training and development

Both internal and
be used by o bu
but what might b
Select ong answ

d D They bot
their resu}

1.

Which sne of these statements about informal, on-

the-job training is most correci? Select ong answer.

L A Itis glways unstructured

L B Itis totally cost-free to the business

LI € It tizs the employee to the business
indefinitely

4 B Itis o very ‘hands-on’ process

A business thai operates good structurad training
schemes for its employees should net suffer from
which one of these? Select one answer.
L3 A Reduction in wastage

L3 B Reduction in absenteei
L3 € Reduction in staff

prositive ST etween business-effective stoff
training, inspirational staff motivotion and
improved staff retention? Select one answer.
L3 A Business disharmony

L} B Business prosperity

1 € Business apathy

[d D Business dissolution

4.

A Becouse
d B Concern
€ Business
W D Toincreg

Under which one
absolutely naces

one answer.
A Whenne

into the
4 B Afterne

into the
= € Incasen

into the
M D Never
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2.5.4 ~ Motivation

1. For what twe reasons is it most important fo have a | 4. Which two of the
wedl-motivated workforce? Select tweo answers. incentives? Select,
LI A Toimpress competitors Ll A Remune
LI B To atiract new stoff L B Autono
LI € Toencourage repeat purchases L€ Job enric
L D Toretain existing stoff W D Commissiy
LI E Tobe socially acceptoble 3 E Bornus
2. Which two of the following are methods of 5. How might using o
employee motivation? Select twe answers. an employee? Sel
LI A Money A Maoke they
L Non-monetary perks and benefirs within the.
L € Feor ; & B :
L3 D Persuusion
L3 E Threat o
3. Which g are financial incantives? b4 D
Select
L A enrichmeni 0
LI B Job rotation
3 € Autonomy
4 D Commission
LI E Remunerotion

COPYRIGHT
PROTECTED
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1.1.1 = The dynamic noture of business

1. The UK business environment is capable of rapid
chonge. Which ene of the foliowing words clearly
refiects this? Select gne answer.

L} A Dynamism

LI B Conservotive
4 € Sluggish

3 D Copialism

2. Space tourism as proposed by Sir Richard Br
Jeff Bezos and Elon Musk is best regon
one of the following? Select ¢

0 )
L

3 mode of transport

L b tast in entrepreneuriol endeavour

3. Business activity can arise from which one of the
following? Select one answer.
L A Lack of customer demand
3 B The constant need to repair or replace
consumer goodds
LI € An economic slowdown
Ll D High level of unemployment

4,  Which one of the following is the earliest example
of o device resulting from the saying ‘necessity is
the mother of invention? Select one answer.

3 A Space rocket

3 B Electic light bulb
L € Archimedes' screw
LI D Refrigerator

5. Which one of the following is a relatively new
business iden? Select one answer.
LI A Electric motor cars
3 B Reuscble spuce rockets
L3 € Home compuiers
L B MNovigation devices

6. In response o the demand created by built-in
product obsolescence and in order to genera
competition between businesses, whi
following happens? Select on,

A New business

&

erated by

entrepraneurial activiry
w business ideas are ever generated
None of the above

Lo
SO w

Which tweo of the
result in the reseq
new business id

3 A Agrow
L B lgnoring
demand

4 € Asiogn
3 Risk-tak
entrepr

evar-changing s
rasult in which
answers,
A Afallin

I I W
&3
(%]
&
=
6}
kel

criteria of o mo
‘influencer’ pro
service? Select t

oA

oo o
o

Being able to o
and needs oz w

LA g?‘agncxvg

b
OB Arisk-o
=
WD Al of the
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1.1.2 = Risk and reward

Select two proctis

1. Which one of the following statements about o
bsusiness risk is true? Select one answer, the element of v
L A It connot be statistically caleuloted L A Neaveru
LI B It con be statistically caleulatad project
4 € It never ocours d B Forma
4 D None of the above compmitt
W € infrequ
2. ‘Which ong of the following statements about ¢ provision
business uncertainty is not true? Select one answer. W D Never do
LI A Itis never a course of action o business financial
fakes E Take ou
LI B s finel outcome is known
L} € s outcome can be statistically ¢ In what two wayi
L B it connot be statisticall business judge the
g the short term? Se
3. reward? Select - A
[ oming risk and uncertointy “ B
3 B uccumbing to risk and uncertainty
L3 € For muking consistent financial losses WG
LI D For failing to achieve the position of
market leader 0 ~
its market
2 E Theam
has goi

1.1.3 ~ The role of business enterprise

1. Anentity that provides goods or services for sale to | 4. Which of the foli¢
the general public, as well as other businasses, is ‘add value’ to o §
generically known as which one of these? Select two answers.

one answer. A Having it

LI A Sociol enterprise by deb
LI B8 Public company L B improve
LI € Private company (d € Crectio
L D Business enterprise 4 D Creatio
for it
2. What is said to happen when on enireprenaur LB Limitits

identifies a market and takes action 1o satisfy 2

Select one answer. 5. Providing o proﬁé
L A Consumers are restricted in their choice satisfying customés
of shops ¢ are basic roles o

L} B Business activity one answer,

COPYRIGHT

L € Prices ingvitably rise LI A For-profit
L D Unemployment follow B Soddal eny PROTECTED
€ Charity &
3. b

D All of the

P one answer.
business resourcas
business risks

€ Make difficult decisions

D All of the above
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1.2.1 ~ Customer needs

1.  Which ene word from the list below cearly defines
the real difference between a consumer need and

¢ consumer want? Select one answer.
LA Justified

L B Normal
L3 € Essential
L2 B Fictional

2. Which ene of the following would not be consi
o basic consumer need? Select pne answ
A Clothing ‘ 5
3 B Shelter

O ¢
O Dy

3. Which oite of the following can market research
techniques help a business to identify and
understand? Select one answer.

A Consumer needs and wants

B Exchange rotes

£ The reasons for labour turnover

R NE N

B The pay differentia! betwesn some workers

Which twe of thei
consumer want r
Pwo answers.

L A Porsche &
4 B igloo
L€ Jacket
I D P35

E Slice of

in order to ploan £
eventually maxing
of the following &
two answers.
L A Show o
B Identify ¢

customers

Ll € isolate
0
3

B Plan for
E ideniify g
customerg
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1.2.2 ~ Marbet research

1. What does market research fully involve? Select 7. Which two of ?he%

one answer. relate to qualitati

L3 A Systematic collection and analysis of data LA Itis never
collectad from the general public (4B honly go

LI B Systematic collection of dota d € s hea

LI € Systematic analysis of date L D s not

Ll D Hophozord collection of fata (4 E

2. ‘Which sne of the following departments of o
business is least directly responsible for making sure
that it has a consistently positive monthly nat cash
inflow? Select one answer.
LI A Finornce deporiment
B Sales department

Ll € Moaorket research
B Humanr

3. tollowing is wlso known as D
arch'? Select sne answer. Ll E

L A internal research

LI B Field research

i € Desk research 9,

L3 B Secondary research

platform for ma

4. Anup-to-date published government report can be answers.

positively used for which one of the following? o
Select one answer.

LI A Secondary research {
LI B Primary research
L3 € Fieid research ok
LI B Observational research
5. Which one of the following statements about desk
rasearch is true? Select one answer, d
LI A ltis clso known as primary research specific
LI B Ir was always desk ressarch
L3 € It results from primary research 10. How might unrel
LI D itis not the same as secondary research a businesst Sele
4 A Present
4. Gathering historical data and information from o properi
business’s own trusted and verified internal records B Give it
archive cannof be regarded as which one of the
following? Select one answer. “GC
L3 A Secondary research € D COPYRIGHT
4 B Primary research
4 € Desk rZseczrch “ E PROTECTED
LI B Relioble resears!
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1.2.3 -~ Market segmentation

1. Which one of the following does the process of 4. Which of the follc

lorge market
D Dividing o mass morket into small targeted 5. What two uses

markest segmentation invelve? Szlect one answer, market segment
L3 A Dividing the production procass into small LA locotion
manageable steps 1 B Gender i
LI B lgnoring small moarkets in favour of larger W€ Quality
ones D Quantity:
LI € Combining oll the smaller markets into one 3 E Hair colo
[

sections
2. What does the term ‘demographics” mean? Sele
one answer. :
L A Demonstrating data colle
LI B Analysing tha ¢h : L
LI € Analysi : 1D
3 D using Microsoft Oifice
L E Tofind
3. Inwhat vays can o business use market addminisiy
mapping? Select two answers. !
4 A To analyse o morket
4 B Tocost an advertising compaign
LI € Toidentify an ideal procurement route for
raw materials
L D Toidentify and target potential customers
LI E To streamline operating costs
1.2.4 = The competitive environment
. When operating in the same competitive 4. A business should:
environment, whai do all businesses have in weaknesses of i
common? Select one answer. criterio. Which ¢
LI A A common goal of always helping analysis? Select
each other L A Unigue
LI B Their own individual strengths ond L Persone
weaknesses 3 € Product
LI € A structured business plan W B Custom
LI B None of the above 4 E Stockp
2. In o competitive business environment, what should 5. How might ana
a business be best advisad to do in order 1o remain new competitor
competitive? Select ane answer. | monagement d
W A lgnore its own sirengths answers. COPYRIGHT
L A Couset

LI B lgnore its competitors’ weakneass
L3 € Play ioits own streng ‘
03

PROTECTED

competitors’

b
rengths and ignore box
4

3. Domino’sizzo claims “You get fresh, hot pizza
delivered 1o your door in 30 minutes or less... or it's sales
free. How would you best dassify this claim? Select
one answer.

L} A Impossible to fulfil

L B Doming’s Pizza company overstating its
ability

4 € A brond nome slogon

LI D A USP for a Domino’s pizza

£
m
Oy
Q
<
[
)
=
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1.3.1 ~ Business aims and ebiectives

1. The long-term aspirational goals of any business 7. harket survival
specifically refer to which gne of these? Select ons the two most like

answer, following? Selec
Ll A s objectives L A Welles
LB Hs aims L B New, sm
L€ s motives W € Globdi,
LI D s proctices 2 b

2. Business objectives refer to which one of the
following? Select one answer,
L1 A& Business long-term asn
L3 B The long-ter

regarded as an
fwe answers.
business ‘stepping sfone’ to o A
ging its aims * B
Faone of the above

3. Which ene of the following statements about
business aims ond objectives is irue? Select
one answer.

LI A They never change over lima

Ll B They only change with the seasons

LI € They are the some for new business start- 9.
ups as for established businesses

L3 B They are subject fo change over time

4. Business aims and obijectives should be SMART? w A Continve
What does the ‘M’ in this acronym stand for? Select d Totally
one onswer. W C ignore s
A Measurable WD Revisitits
4 B Mature 4 E Confirm iy
LI € Manipulative managen
LI D Many

10. The type of prody

5. Profit maximisation is considered to be which one stage and ex?emg
of the following? Select one answer, might be two rec;
L3 A An essenticl basic aim of o social enterprise following happer;
LI B A business’s only aim or objective two answers,
3 € A business's finandal oim or objective -

4 B Unachievable by any business

COPYRIGHT
PROTECTED

&, Which ong of the following would |
as a business’s non-financial ¢
Select one answer.

_ Sximisation entity
sotially acceptable to ol

A W W W

3 € Becoming totally carbon-neutral within, say,
five years
L3 D Becoming totally copital-intensive
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1.3.2 ~ Business revenues, ¢costs and profits

1. Which one of the following defines the term é.
‘revenue’? Select one answer,
LI A Money income that o business receives from
its sales and investments
Protit thot o businsss makes over the year
Money paid to HMRC on profits
Profit after all expenses have been paid

Lo
TN w

2.  Building insurance, fire insurance and public liability | 7.
insurance are all examples of what type of business
cost? Select one answer,
3 A Toral cost
L B Morginal cost
4 € Voriable cost
L D Fixed cost

osts defines which ene of

the fol Select one answer. Study Diagram 1, be

LA 810 10.

LI B Profir

W € Marginal cost B. The measvrement:

L3 D Breok-even between which te

increasing varia

4.  Consider the following formula: ({total repayment — w A Line A

amount borrowed) + amount borrowed) x 100. :-! B LineB

Which of the following does it calculate? Select one wl € line C

answer. 4 D LlineD

L A The notional interest charged on o loan wi E lineE

L} B The monetary interest charged on o loan
L3 € The percentage interest charged on o loan 9.
LI D rone of the above

A Lline A
5. wWhaot does the calculation of a business’s ‘margin 3 B lineB
of safety’ show? Select one answer, »J C iline C
(d A The number of units it can safely produce L D LineD
LI B The number of units that will allow it 1o W E lineE
break even
LI € The number of units that will make it o 10. I line D remains ¢
profit movement of wh
L3 B How many units it must produce in order to left or right move
reach its breok-even point answers, ‘
L A Linea
3 B LineB
C tneC | COPYRIGHT
E linef . PROTECTED
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1.3.3 - Cash and cash flow

1. Anecdotally, cash is said to be which one of the 6. What two impo
following? Select ane answer. construction of o
LI A Aliobility for a business forecast? Select
L3 B Profit o business makes 4 A Unfores
L} € King — the lifeblood of any businass L B Sratistic
4 D The downfall of any business estimate
W € Physical i
2. Which one of these statements is not true? Salect L D The obilith
one answer. Ll E Noneofn
L A Cashis not important to o business in the
short term Consider Table 1, belg
LI B Cashis most imporiant 1o o businass 5 10. :
especiaily in the short ferm -
€ Cashis not the same as profi What are the ‘Say
L D Cosh connot be used : month of Qciobet
L A £15000
3. its outstanding bills is W B £9,000 .
INE ONSWET. € £22,000;
j 8. What are the ‘Re
L € Solvent the ‘Closing balaiy
3 B Insolvent Select twao answ
L A £3,000
4. Which one of the following statements is frue? LB £11,000
Select one answer. W€ {£16,00
LI A Cash flow is not the same as profit
(3 B Cash flow is the same as profit 9.  Whatis the ‘Op
L1 € Cash flow is deferred revenue income balance’ for the
LI D Cash flow should always be negative answers.
W A £5,000
5. Anunexpected one-off capital payment and o L B £10000
temporary cash flow problem of o debtor might € {£6,000);
diractly be the cause of o business experiencing
which one of these? Select one answer. 10. Which two of the
Ll A Anunexpected profit forscost not pre
(3 B Anunexpected loss W A Times of
Ll € Atemporary positive cash flow = B Times of
LI D Atemporary negative cash flow crisis i  C Business
D Times of
L4 E Business

Toble T — Cash flow forecast
Cosh flow forecast for three meaths ending Dece

(5] | Hovem COPYRIGHT
= 750 PROTECTED

Cash inflows

Sales

Rental income § 3,000 =

Tot ’ 12,000 7,00
: 6,000 11,0

Overheads, e.g. eleciricity, rates 4,000 5,00

Total ocutflows

Opening balance 3,000 35,008

Net cash flow = = &
Closing balance 5,000 = &
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1.3.4 — $ources of business finance

1. Which one of the following is most likely 1o find it 4.  Which two of the:
difficult to get o loan from o finoncial institute? possible long-terd
Select one answer. successtul and w
LI A A small, well-established sole trader fwo answers.

LI B A small, newly started sole trader 4 A Veniure
LI € A large, well-established public company J Barik ov
Ll D A multinational corporation L C Tradee
L D Retoine
2. How is a bank overdraft classified? Select d E Noneoft

one answer.,
L A A really expensive form of business finance
L B A business’s immediate cash outflow
L} € Short-term source of finance :
LI D Long-term source of finag

anty
3. nall, short-term L B Hsaimi
& answer from eu
weant it from geoing into predicied contritw
i-term negative cash flow b ¢ kisalo
LI B Tobuy a very expensive new fixed asset primaril
W € To finonce regular long-term HF payments W D irisnot
L3 D None of the above B Ms aimi
from ea

coniributé

COPYRIGHT
PROTECTED

Multiple-Choice Question Bank for GCSE {3-1} Edexce! Business Page 44 of 75




1.4.1 — The options for start-up and small businesses

1.

Which ene of the following groupings is protected
by ‘timited Hability’'? Select one answer.

LI A All shareholders of a company

L B All stakeholders of a compony

LI € Al employsas of o compony

LI D Al senior managers of a company

Which sne of the following is most Hikely to
encourage new invesiors in o company? Sele
answer,

LI A Lack of threat from co
L B Goodcredit

nity protection

Which o the 'foiiowing does net offer limited
fiability protection to its owners? 3zlect one answer,
LI A Sole trader

LI B Private imited compony

L € Limited portnership

L3 D Public limited company

Which of the following is o likely type of business
ownership for o small, newly started for-profit
business? Seleci one answer,

4 A Multingtional corporation

3 B Registered charity

L € Public limited company

LI D Private limited compony

Which one of the following is an advaniage 1o

being the owner of a sole trader business? Select

one answer.

L} A Business responsibilitias and duties are
not shared

LI B8 Unlimited liability

LI € Profits have to be shared

Ll D Protection of limited lability

Which twe of the following are advantages to
pariners in an ordinary parinership? Select :
two answers.

4 A Mo limited licbilit

Act 1890
ritiership’s liabilities

i Clashes between pariners

Hity of involvement in o slow decision-
making process

LJOOou
[9)
i

7.

Which tweo of ?he:
the owners of a g
bwo answers.

oA
B
W C
- D
the genes
W E Their burg

shared w

Which twe of the:
abrout running o £
QNSWETS.
4 A Reguirem

4 B PRoyalty
W€ Toral fr
restricti

4 D Anoper
4 E

Franchising has
for both the fra

reputatiof
W E Adesire;
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1.4.2 ~ Business locetion

1. Which of the foliowing are the two most likely 4.  What are the tw
considerations of a multinational conglomerate foraign business
choosing o UK location for its headquarters? Select two answers.
fwo answers. A The prin
L} A The number of government grants worldwi

available (I B Lowcor
3 B The political stubility of the UK L € Genero
3 € The linguistic ability of the potential labour grants o
force W D Verylig
L} D The predominant religion in the UK 4 E The edu
Lt E The opinion of its competitors worldwi

2. What two factors might more strongiy i
appropriateness of the location

A Potentia
bt Proximit
L v dnd quontity of local industrial L€ internet
: maintenance services L D Proximit
LI B Efficiency of the telecommunications L E Support
infrastructure
L € State of the road transport infrastructure
LI D Proximity to raw material input
L} E Availability of skilled labour

3. Which two of the following types of business
activity would be the most labour-intensive? Selact
twao answers.

4 A GPS monufacturing business

B CabD/CAM preduction of integrated circuit

boards

£ Asporagus farms

L Luxury yacht building

E Fomily cor production factory

OO0 oo
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1.4.3 =~ The marketing mix

1. Soles maximisation is the overall goal of whichone | 7. Because of devely
of these? Select one answer, the ‘promotion’ ail
L A Stoff retention procass have been impa
L3 B Recruiiment process following? Select

4 € Maorketing process {4 A The chon

4 B Production process populat

4 B The cost

2. The elements of price, product, promotion and 4 € Ropidd
place make up what? Salect one answer. W B MNone of

L3 A The advertising mix
LI B The sales mix

LI € The product mix

L B The marketing mix

How might o bus
with its competifo

[
>
w
<
g
=3
-

3. What is the nome gi sSion aimed I B Bymovin
at increasing pro and 5o increusing L € Byonac
its soleys L D By sudde
0 A £ reducing
I 8 Guction strategy
LI € Management style 9. Which one elem
LI D Motivating strategy likely 1o be the g

o alter? Select o
4, Which one of the following is true about all the W A Product
elements of the markating mix? Select one answer. 3 B Price
LI A They are integroted 3 € Ploce
LI B They are not integrated 4 D Promotic
L € They are always independent of
each other 10. The quality of whi
3 D They cannot be aliered mix is fikely to be
Select one answe
5. Which one of the following statements is correct? A Product |
Select one answer. U B Promotion
(3 A No business needs a marketing strategy Qd € Price |
B A marketing strategy is not a plon L b Ploce

responsive fo the changing environment
B A good marketing strategy should be
“written in stone’

L
LI € A good marksting strategy should be
L

&, Which ong element of the marketing mix would
appear 1o impact most on an exiremely cash-
strapped family? Select one answer.

LI A Price

3 rromeon COPYRIGHT
LI B Place PROTECTED
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1.4.4 ~ Business plans

1. Which of the following are two important features 4,  Which tweo of ?he%

of o business plan? Select fwo answers. as sections in o by
L A ltis o physicol documant LI A Finoncia
LI B It must be word-processed 4 B Potentio
L3 € It must be declored o HM Revenue € Exagge
and Custorns W B Markedi
LI B It must hove the opproval of oll employees 4 E Compet
L E It should be first drawn up before the :
business starts frading 5. In whot bwo wayd
impress potential

2. Whot two uses might o business plan have for any LA Aplon

business? Select bwe answers. d B Aplon
A To act as an ongoing budget achi EIrors
reference L € Aplunw

LI B Tomcketheb 4 DB Aplon
alzout 5

LI cC I E Aplon
and custg

g b Wally eliminate business risks

LI £ To ensure total business success

3. What external faciors might prevent an established
business from being able to rapidly change s
existing business plan? Select tweo answers,

J A Lodk of in-house planning expertise

B Lack of the business owner’s personal drive

€ Lack of internal business finance

D When additional new competitors suddenly

enter the market

O poao

gl

When o new product suddenly comeas on
the market

COPYRIGHT
PROTECTED

Multiple-Choice Question Bank for GCSE {3-1} Edexce! Business Page 48 of 75




1.5.1 ~ Business stabeholders

1. Which eng of the following is the best definition of 4, In what two way

o business stokeholder? Select one answer. material supplieriy
L A Anyons who has financial, social or output? Select hwy

environmental interests in o business 4 A Reduce n‘
L3 B Anyone who owns shares in a business materials;
LI € A non-vegan business owner W B Reduceit
LI B A business owner materials:

£ Disrupt it
D Disrupt it
E incite its

overiime

2. Which one of the following might be consadea

non-stakeholder in o business? Select
[ A Sharehoiders
4 B The gc}vemm

ok
d
B

5. Which of the fol
a business would
siake«hoider confl

A Being fle

Ignoring

fidde delivery business decided 1o
change its van fleet from diasel power 1o eleciric

gogoo

power, which of the following twao stakeholder ¢ Intransig
groupings might be most pleased? Select D Compron
twe onswers. E Concessi

A Electricity supplier

Creditors

Employees

Fuel suppliers

Environmental pressure group

oo
™y W
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1.5.2 -~ Technology and business

1. Whot does e-commerce refer to? Select

one answer.

L3 A Buying, selling and paying for goods or
services over the Infernet
Buying, selling and paying for goods or
services over the WWW
Easy commerce
Everlasting commerce

W B

Wb
D

2. Which one of the following entire groupings is on
example of 'social media’? Select ane answer’

LI A Excel, YouTube and Access

3 B PowerPoini, YouTube and What

L € Focebook, YouTube and )¢

I D Focebook, YouTuby App

- igital communication
answer.

A WERO-up radio
LI B8 Smartphone
LI € Audio tape recorder
L} D Photocopier

4. Which one of these is largely responsible for the
sudden growth in the ‘cashless society’? Select
one answer.

L4 A Accessibility of cord-reading machines
3 B Feor of identity theft

LI € Developments in digital technologies
LI D Decline in analogue technologias

5. The effective application of improvements and

developments in all types of technology usually has
which of the following impacts on o business’s sales?

Select one answer.

LI A Couses them to decrease

LI B Couses them to remain static
LI € Couses them to fluctuate

L B Couses them to increcse

4. A business’s fixed costs would increase s a direct
result of which one of these actions? Select
one answer.

L A nvestment in a new CAD/CAM maching
L3 B Increased electricity running costin
CAD /CaM machine
L € Administration ¢ the
LAM machine
0

Which one of ‘rhe§
relationship bet

directly
No elen
directly
The pro

0
=

3

{]
o

mix will

Developments in
influence o busing

one answer.
1 A Consumer
L4 B FEnvironn
4 € Digitalt

O D Allof the

Which of the fol
disadvantages t
Select two answ

d
td
I
E!
td

limited

Back in the 197
business product
represanted by
compuier-aided
bd A Design

Digitesl

Marketi

oo
m g0

=z

o

=

<

<
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1.5.3 ~ Legisiation and business

1. Which two of the following are examples of 4.  Under the Healy

consumer protection low? Select fwe answers. which tweo of th
L A Equality Act 2010
L3 B Heolh and Sofety at Work Act 1974 business? Select
L € Trode Descriptions Act 1968 oA
3 D National Minimum Wage Act 1998 “ B
L3 E Consumer Protection Act 1987 W oC

2. Which two of these are covered by UK - oD
employment laws? Select twe answers. 4 E

LI A Taonning

L Discrimination

4 € Murder What twe negott

4 B Pay legislation usually:

L3 E Tax evasion answers. f

: A Alwaoysi

3. Which , g are net basic employer w B Inevitable

requir of the Heolth and Saofety at Work Act - € Increases;

19742 Ftwo answers, 4 D Increases

L3 A The poyment of o living wage L E Alwoys

Provision of drinking water stakeho

B

€ Provision of first-aid equipment

D To make sure that employees wear
necessary safety clothing

The praovision of private medical and
pension schemeas

=¥
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1.5.4 -~ The economy and business

1. Which fwo of the following statements best

descrives an employed person? Select

twe answers.

LI A Regulor full-time employee who recelves
some form of remuneration

L} B Regular port-time employee who recaives
some form of remuneration

L € lrregular employee who does not get
remuneraied in any way

Ll D A person who is never in gainful
employment

3 E Anitinerant worker

2. Which two of the following w
fikely outcome of o fall in®
consumer income? &

A

icnd for luxury goods

W ] ase in demand for luxury goods
and services

L € Increase in the supply of luxury goods
and servicas

L B Increase in average disposable consumer
income

LI E Decrease in the supply of luxury goods

and services

3. What might be the two most likely short-to-
medium-term reactions of the average small-to-
medium-sized business if UK bank interest rates
were to substantiaily foli? Select fwo answers.

WA Decraase their relionce on ICT

Increase their efficiency

Increase their borrowing to invest

Closure

podau
™y

Discourage them from saving

inflation is basic
Which tweo of th
about inflation?
W A ltdoesn
It impac

B
C
D

usually
B A decre
tox fov
Value o
the some;
Exports ¢
market
A rise in #)

I
s

.
(%)

E;:l
Lis]
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1.5.5 -~ External influences

1. With regard to the general business environment, 4.  What two impacf
which two of the following statements are frue Hational Living V&
about changes in technology, legislation and the consumer spendi

economic climate? Select two answers., b A
Ll A They are internal factors that influence B
business behaviour
L B They are exiterncl factors that influence I
busingss behaviour
LI € A business has direct control over these - D
factors
LI D A business hos no direct control over these L E
factors spending:
0

E They are factors that have no in :

over business behaviour 5. What are the two
: overall business 1§
ology negaiively profonged down

P tweo answers. Select bwo answ

2. How might devel

ofits to increase W A Aneconc
ce employee motivation 3 B Passimism
Fear of job loss might cause employees future req
1o strike € Aprotro
Caouse production to deciine activity
Could cause increased iraining costs fo the I
business U E

3. VAT is an indirec! tax imposed on some goods and
services by the government. What twe impacis
might o decrease in value added tax have on o
small struggling retail business? Select two answers.

A Increase its sales

Decrease its sales

Cause it 1o reprice most of its products

Cause it to replace most of its products

It will not have an impact ot oll

Loooo
mg W
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2.1.1 — Business growth

1. Why is business growth important 1o o business? 4, A small business ¢
Select two answers. a private compar
Ll A Tocreate and maintain an image of market frue about this Tyg
authority answers. :
L B To give it the wherewithal to effectively LA s mem
deal with competitors liability
3 € Tosatisfy consumer needs and waonis B lthasn
LI D Tokesp employses fasling secure fd € lthasn
L3 E Tosatisfy HMRC (d D Itconno
G E It has stal
2. Which two of the following a
internal business grow! answers. 5. Which tweo sour
LA New : and development used to grow o
3 B ; 18 new markets as opposed to  §
o C s with other businesses two answers.
L3 D Vakeover of other businesses wl A Unsecure:
LI E Opening new business outlets “d B Becoming
L € Retoined
3. Inorganic growth is not achieved by which of these L D Saleof
two methods? Select twe answers. L E

Unsecureg
& Opening additional outlets !
B Research and development of new
products
€ Merging with similar businesses
B Hogtile takeover of similar businesses
E Voluntary takeover of dissimilar businesses

oo oo
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2.1.2 ~ Changes in business gims and ohiectives

1. Which two of the following factors are least likely 4. For what fwo rec

to impuact the long-term gools of a largs, successful, bulld up o produg
well-established multinational conglomerate? Select L A To highlig
fwo answers. d B Tomocke s
W A Worldwide economic recession profits ot
L} B The emergence of small, financially weak 4 € Tocompls

competitors (4 D Asabac
4 € UK government chonges to corporation tax market
4 B A slight change to UK living wage L E Anclysin

regulations in o new
L E Atemporary downward turn in the UK

For whot tweo re
on to the doming

st market? Select ha
Y LA it might

econoenty

2. Which bwe of the following wo
fikely priority focal points

established busin answers., it to reas
A W B Lackoff
O B d € Fearof
€ s tditation with green credentials entering
3 DB Achieving a positive cash flow U D Fearofo
LI E Market domination market #
1 E Fear that
3. For whot bwo reasons might a business reduce its market

workforce? Select fwo answers.

4 A Feor of poor lobour relotions

B A decreasing reliance on technology

€ Government-inspired increase in the
minimum wage rafe level

D Faolling cost of labour

E In o move towards being more capital-
intensive

I WU W R W
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2.1.3 ~ Business and globalisation

1. [Interms of the world of business, what does the 7. What twe busin
word ‘globalisation” mean? Select one answer. the UK sxperien
L A The world is considared s ‘exponding’ in the EUZ Select ¢
terms of trade, communication and travel A Loss of
LI B The world is o globe d B lossofc
L € The world is considared as ‘shrinking’ in d € Ability t
terms of frade, communication and travel with cou
[ D The end of the world is nigh 3 D Baingp
d E Problem
2. Whaot does the word ‘importing’ mean? Select exchang

one answer,
LI A internal trade between UK businesses
LI B Improving UK docldand areas
L€ UK businesses selling go
0

Which bwe cour
take to make it
markets? Select
L A Donstp

foreign countries .

B UK busine goods and services L B Be bell
2 infernati
€ Supply
3. s the following bast defines the process services
of UK businesses buying goods from foreign L D Display
couniries? Select one answer. dealing
L A Importing 1 E Underto
LI B Exporting internati
L} € Trading
LI B Supplying 9. Which two of the
UK's internationat
4.  Developments and improvements in the ‘infernet of L4 A locotion
things’ have made which one of the following least by water:
significont? Select one answer. 4 B london, o
L A Location of o registered office of an excellency
internationa business ¢ import qLi
L} B Availabiiity of a market the UK &
L3 € Improvemenis in technological infrostructure W B UKsab
4 D Improvements in the education system trade d
4 E Atende
5. Which ens of the following words least relates to o language
multinational corporation? Select one answer.
LA Large 10. What are the fwa
J B Small many developing:
O ¢ Mini outcompeting the:
3 D Micro Select hwo answ
A Their lock
6. Which one word best describes o “4oriff'e Select W B Their lock
one answer. L € Their iack
L A Service 1 D Their fock COPYRIGHT
L B Quota computer: PROTECTED
G € Tox d E Their lack
W D Sales commer
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Z.1.4 ~ Ethics, the environment and business

1. Which of the foliowing fwo criteria do not provide | 4. In whaot fweo way
the best evidence of o business’s ‘green’ attitude o good

credentials? Select two answers. concern about d
LI A The number and quality of energy-saving impoct o busine
devices it operates 4 A Compro
L} B The omount of profit it mukes over the year L Increas
LI € The origin of its sources of supplies L € Protect
LI D lts commitment to @ recycling policy L D Increos
L3 E lis level of general capital investment 4 B Eornitc
credentic

2. Which two of the following might result from o
business regulorly failing 1o act in an ethical an
socially responsible way? Selact two anzws

Ll A Increcse in market grow? impacted by th
LI B lIncrecse in pro : pressure group?
-« dth of environmental A Hocking
the pro
LI b d B Hoving
3 B S%used employee recruitment threate
W € Peacefy
3. Which two of the following are not environmental promoti
issues thot should influence and impact the daily D Aggres
operating activities of o business? Select two outside
CNSWETs. 3 E Spread
L3 A Cash flow ;
4 B VYegonism
4 € Climote change
3 D Air poliution
LI E Single-use plastics
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b B By pi‘@dut‘&

1. Which two of the following are components of the
product design mix triongle model? Selact two

answers.
L3 A Aesthetics

L3 B Function

L € Dedine

LI D Growth

L2 E Cbsolescence

Study Diagram 2, below, ond then answe
2 and 3. :

2. Whaot lobels shos
column
3 A
3 B iumn B: Growth
LI € Column B: Introduction
L B Column C: Maturity
LI E Column C: Decline

3.  DBuring product life cycle phase D, which of the

following two events hoppen? Select hwo answers.

A Product sales are steady

B Product sales are in the ascendancy

£ Product sales decline

B Product extension strategies are initially
started

Product’s certain market death ocours

0opdao

L]

Diagram 2 — Product life cycle

Which of the folig
product extension
two answers, ¢

A They only

>

A W W W
s
3
5

L
bitd
—~
=
T
~
3
Q

What fwo adven
product different
LA Massive

special’
B No choic
Customer:
of a bran
A higher

I W W
g 0

E;:l
Lis]

Confusion
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1. Which one of the following best defines 'price’?
Select one answer,

L3 A The amount of money a business poys HMRC

B The amount of money o business charges
people for entering its premises

selling its products or services
B The amount of money o business charges ifs
customers 1o buy its products or services

a
LI € The amouni of money o business charges for
0

2. What is the purpose of a business’s ‘pricing
strategy’? Salect one answer.
3 A To establish the best selling price f
product or service

L3

Which one of the.
impact the salea
super yacht? Sel

A Image
B Guality
d € Price
L D Storoge |

If a product hos
profit margin, whi
strategies is the
Select one answ

LI B To establish the

service :

L S :

L shop footfail 5. Which one of the
business's product
answer. :
4 A Theleve
W B The leve
4 € Theiole
W D Al of the,

Z.2.3 — Promotion
1. For whot twe recasons doas o business odvertise its 4.  What twe eleme
products or services? Select two answers, ‘product plocem

LI A Toinform 3 A Fontasy

LI B Topersuade L Colour e

L € Toamuse € Well-kn

3 D Toprovide employment D Widely

I E Tobe charitable 4 E Sound-e

2. ‘Which two of the following ore aot elements of o 5. Which twe of th

business’s broader promotional mix? Select
two answers.

A Advertising

Shop-floor workers

Calebrity endorsemant

Sales promotion
Managers

goooo
™ w

3. Businesses use a wide varisty
sirategies to get custorn products,
& not induded in

WO QNswers,

2 Recryitment

(o
(d
L3 € Bronding
[
LI E Motivation

to promote a pr
Select hwo answ

A

m
Q
m

mUONOw
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1. In whot twe ways can the ‘place’ factor of the
marketing mix be used fo increase a business’s
sales? Select fwo answers.

& By having o very big corbon footprint

B By having o more customer-friendly

environment

€ By being more geographically convenient

for customers

D By being physically very small in size

E By being less convenient for e-commerce

users

g0 O ad

2. Which two of these doas an e-iailer not
specifically need 1o have? Select

the Internet
¥iss to a supplier

goooo
3

L3

Which tweo of ?he%
direct channel dis

L
MmN W
=3
=%
{
~
=
e

What pwo funct

Which tweo of th
disadvantages
Select two answ

o A limited m
O B Iidentity i
U € The offer.
L D Excassive
“OE

methods &

Multiple-Choice Question Bank for GCSE {3-1} Edexce! Business

Page 60 of 75

COPYRIGHT
PROTECTED




2.2.5 = Using the marketing mix o mabe business deaiﬁ@rs;

1. Which one of the following is the best definition of
the term ‘integrated marketing mix’? Select
sne answer.
LI A All slements of the marketing mix ore

3

L
L

2. Which one of the following statements is mst
reasonable? Select one answer
& A product should

3

03
3
(L

w

B

C

D

0y &

D

independent and not reliont on each other
All elements of the marketing mix are
interdependent ond reliont on each other
All elements of the marketing mix are

the same

Ali elements of the marketing mix are
unchangeabie in value or impact

¢ sale in
a ploce 1
always be overpriced
should always be of good

Y

A product sale should always be forcibly
made

How might the ‘price’ element of the marketing mix

be used to gain a business o competitive
advantage over ifs rivals? Select one answer.

(d

L
L
L

A

B
i

By reclising that price can never gain
business competitive advantage

By always being the highest price on offer
By being pitched ot ¢ high amount as
demanded by its target audience

By being pitched ot a low amount
affordable to its target market

4.,

Which factor of 1
chonged by o by
advoniage? Sele

4 A Product
Wl B Place
3 € Promotion
D Noneof

How con o busin
marketing mix p
advaniage over

4 A Byaollow
atways r
1 B Byollow
associate
€ By faciit

.
v

By totalby
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2.3.1 — Business operations

1. To preduce goods and provide services is the prime | 7. Which one of ‘rheé

and basic function of which one of these? Select ONe answer.
ang answer. A Ablwoays
Ll A Soclety used to
L3 B Environmentalists 4 B Moreth
LI € Business operations used fo
L} D Government agencies 4 € Noone
; complet
2. Whaot process does the following sequence WD Sometin

represent: inpul, process, ourput and
Select one answer.

A Production vriole business 8.  Which two of th

L 8 s as ¢ whole business procass two answers.
L C3 of goods as a whole business process ,.,] A Bad, int
L3 B Consumption of goods us a whole busingss -l B Finonca
process (4 € Non-fin
4 D Nonfin
3. Which one of the following best defines *job waorkers
production’? Select one answer. W E Threat
L3 A The production of a diverse group of non-
commercial products 9. Inwhat two neg
L3 B The manuvfacture of identical batches of developing dig
commercial products Select wo answ
L3 € The moss production of identical units of - A Signific
commercial products w B increos
I D The production of a one-off and unique upskili o
bespoke product w € Demotiv
redund
4.  What type of production, more than any other, W D Create
most likely puts o supplier's reputation directly i E Focilitar
on the line and under real close-up scrutiny bacouse
of the unique baspoke nature of the oulpu? Select 10.
one answer. statement, whic
L4 A Baotch production are not always
L3 B lob production W A lis adva
L} € Flow production disadva
LI B Muass production L B I should
and inc
5. In which one of the following does automation pla o rwillal
a really important part? Se?ecf one answer, o business COPYRIGHT
0 A lob production WD Worker PROTECTED
I B One-off producti ) by mod
3 € Flow produ WoOE i might

on would most likely be used 1o

produce which of the following? Select one answer.

L A A fixed quontity of identical units in the
some production run

B An unlimited guontity of dissimilar units

A unique and one-off object

D A very small unit in o series of different
production runs

(MR NEN
s
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2.3.2 = Weorking with suppliers

1.

Which one of the following activities has the
primary responsibility of maoking sure that the
business always has sufficient stock to fulfil o
cusiomer order? Select one answer,

L} A Finoncial monagement

LI B Humaon rescurces monagement

L € Siodk manoagement

3 D Maorketing monagement

With reference to o business’s stock control
management system, which one of the following is
also known as ‘bor gate stock control’? Select
one answer,

L A Just-in-time stock control
L B Traditional stock control
L € Mavybe in case stock o

: : IT row material stock

nufacturing business attempt 1o

ane answer.

Sufficient stock is always available on the

manufacturer’s premises

L} B Stock s available only when needed for

production and completion of an arder

L3 € Excessive stock is always held by the

monufacturer

LI D The cheapest row malerial stock is alwoys
procured by the manufocturer

Which ane of the following cannot be regarded s
business stock? Select one answer,

LI A Creditors

LI B Workin progress

L3 € Finished goods

L B Raw materials

What does stock procurement involve for o
business? Select one answer.

& Stock that is part of work in progress

B Changing raw materials into finished stock
£ Holding stock for sale to customers

B Buying in stock 1o sell to customers

LR R Y W

& Buying
B Selling
c
D

Plannin
movem

In the bar gats
what do line C
answers,

Luued
mMOO®EP
3
s

conseguences o
business entity a

4 A idedle

stock co
W B low-gu
4 € Reliabil
LD lrregula
W B Goodw

The reputation
damaged by w
fwo answers.

St ulululn
MOOE >
Q
8
o)

conirof chart

line D

Multiple-Choice Question Bank for GCSE {3-1} Edexce! Business

Page 63 of 75

COPYRIGHT
PROTECTED




2.3.3 ~ Managing guality

1. What intangible aspect of o product or service can | 4. How might poor
ke measured by the extent to which its users’ hinder ¢ busines

expectations are met? Select one answer. A Cousel

L A Quality d B leovet

LI B Quantity exploit

LI € Price L € Destroy

LI B None of these 4 D ingllth
2. What does the process of standard quality control 5.

involve? Select one answer.

L3 A A one-off, end-of-production-run, random
sample check

L B A sysiemotic, ongoing process of

and balances

Computer-only ¢

Select one answ
4 A Feorof
& Costin

D Feor of ik

fity assurancs involve? Selsct

L3 A Defective products are covered by the
business’s insurance

4 B Certification of the output's gquantity sold to
the consumer

LI € A cerifioble, systematic, ongoing process
of checks and balances to deliver o defect-
fres output

LI D Consumer testing the product before
buying it

2.3.4 ~ The sales process

1. Which one of the following best relates to the soles | 4. For which fweo rec

process® Select one answer. engogement wi

L} A Product knowledge is unnecessary essential part of 3

ld B Mever includes a follow-up hwo answers,

L € One-off event L A Toensure

[ D System of logical incremental steps by them :
W B :

2. ‘Which ong of the following is o key that @ business
can use to keep its customers satistied? Select one i c
answer, business

B To omnoy§

E To outsmé QQPYR%@HT
salles feay PROTECTED

er complaints 5. Which two of ‘ihe%

L3 A Not having o sales return policy

LI B KNot acknowledging the primacy of th
customer

L € Always providin

Always disg

Yollowing are siages in the sales d A Cpena

process tiy sclesperson should follow? Select depart
bwo answers. 1 B Offerd
L} A Positive engagement with the customer I € Offerc
L} B Condescending approach to the customer L D Seli cust
L3 € Being over-negative about competitors’ their pu
products L4 E Encowra
LI D lgnoring the customer after purchase
LI E GCood knowledge about the product

being sold
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2.4.1 —~ Business calculations

1. ‘Which sre of the following best defines ¢ business 7. I o business caleg
profit? Select one answer. 44.44%, whot doi
i A Excess of sales revenue over costs one answer. f
LI B Excess of costs over sales revenus A Forevery
W € When soles revenue and costs are equal ~ £44.44
L B When a ot of sales are made L B Forever
£44.44
2. What does the formula ‘sales revenue less cost of € Forever
sales’ colculate? Select one answer, worth of
3 A Neat profit L D Forever
LI B Gross profit £44.44
LI € Turnover
I D Total expenses 8. What does the i
as the ‘average
Study Tab! en answer questions 3 to 6. ane answer.
A The total
3. What voss profit for Year 2% Select investme
one onswer. 4 B The total
LI A £30,000 makes o
[ B £40,000 3 € The perc
LI € £30,000 gets on g
L D £70,000 W D The perc
gets on o
4. What is the net profit for Year 12 Select ong answer.
LI A £20,000 Siudy Table 3, below,
I B £30,000
3 ¢ £10,000 Q. What is Year 0%
O B £E0 q_}}oice A2 Select
LA £12,500
5. What is the gross profit margin for Year 22 Select < B £90,000
one answer. W€ £150,00
O A £41.67 W D £240,00
LI B 41.67%
1 ¢ 40% 10, Consider ‘Choice
3 D £40 Table 3. Then, us
return criteria, sey
6. What is the net profit margin for Yeor 22 Select acceptable. Seler
one answer. A Choice A}
O A 16.67% td B Choice B
O B £16.67 w € Choice C.
O € 30% W D Choice D:
WD O£30 Z

Table 2~

nd expenses

Year §

£100,000 | £120,00

£60,000 £70,000

Running expenses

£10,000

Toble 3 — Possible investment choices

COPYRIGHT
PROTECTED

Investments Choice & | Choice B | Choic
Yr. O initial cost outlay e
Yr. 1 profit from £50,000
Yr. 2 profit from £40,000
Yr. 3 profit from £30,000
Yr. 4 profit from £20,000
Yr. 8 profit from £10,000 :
Average rate of return 12.5% 12% 18%
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2.4.2 ~ Understanding business performance

1.

Which one of the following applies to quantitative

business data? Select one answer.

LI A It connot be used in market research

LI B It is totally subjective data

4 € It can be counted, verified and statistically
manipulcted

LI B It cannot be statistically manipulated

Which sne of the following is o drowback for a

business of undertaking the gathering of

gquantitative data? Select one answer.

3 A I connot be presented using MS Office
software ;

B it will not help with a bus

making process

we data collection

£ oo
3

cns only limited-use dato that ladks
y and options

Which twe of the following software packages ars
usually used to generate graphs, charts and
financial statistics when making o business
presantation to o knowledgeable audience? Select
two answers.

LI A Microsoft Word

L4 B Microsoft Excel

4 € Microsoft PowerPoint
L B Microsoft Access
LI E Microsoft Draw, using Word

From the list below, which twe are not finoncial
data types? Select two answers.

4 A Company directors

Stakeholders

Trading account

Break-even chart

Cash flow forecast

oo
™y m

Two of the following statements are incorrect,

Which fwo are they? Select two answers,

L A Market research can provide business with
useful dota and information

B Market research can provide business w

quantitative information

Market research can

qualitative infor

Market

¢ Srmation

ting research data is always correct,

date and reliable

t provide business

VR W W W
3

6.

Which of the fo
Select two answ
LI A Primory

L4

I € Second
trusted

4 D Secondar
research ;;

4 E Secondat

market research §
angwers.
& I connot §

B
C ltcanb
D

O oo

m
=
=
Q
3

<

A market can b
fwo of the follo
segmentation sle

A Age

W B Femagle
I

oD

Ll E

Which fweo of ?he%

o business’s fing

answers,
3 A Custom
1 B Environ

Net profi
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2.5.1 ~ Oroonisational structures

1. Which ens of the following is most likely not to
have a toll hierarchical structure? Select
one answer.
Ll A Sole trader business
L3 B Small-to-medium-sized light engineering
private company
3 € MNationwide accountancy parinership
LI D Large public limited compony

2. ‘Which ong of the following might be ¢n
an advantage of o flat-struchereaid
Select one answer.
WA Offers o d2"of quick promotion
know who their
Fyees are
4 € Ehployees feels us if they are very small
cogs in a very big wheel
L D Relatively quick decision-making process

3. For which one of the following would o flat
struciure be most appropriate? Select one answer.
LI A The MHS
LI B Very small family hill farm
L3 € The military
LI D PMoronwide logistics firm

4.  Which ensg of the following is on advantage of
centralised moanagement siructure formats? Select
one onswer.

LI A lInconsistency in positive imoge presentotion
1o the public

L1 B Slow reaction io market change

LI € Inconsistent company-wide aims and
objectives

LI B Consistency of management information
dispersal from a central head office

5. Which one of the following is least likely to have
communications probylems? Select ene answer,

4 A lLarge deceniralised organisation

B Flai-structured organisation

€ Mubinational corporation

D Tall hierarchically sty

(R NE NN

Which one of the
large, hierarchicg
Select one answ

o

3
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L € Wabinori
-

D Telecomnd
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2.5.2 - Effective recruitment

1.

Which one of these is the main distinguishing factor
between ‘working from home’ and ‘remote
working’? Select one answer.

LI A Geographic location

LI B Type of work

Ll € Hours of work

L D Time of work

Which sne of the following job roles has arguably
the most say in the future gools-driven direction of
a business? Select one answer,
3 A Deporiment monagers
L B Support staff
€ Shop-floor employees
L D Company dire

4 ‘person specification’?

L nieck the identity of the job applicant
i B To select the best type of person for o
spacific job
LI € Toset out what the job enfails
LI D Toget the academic qualifications of
the applicant

2.5.3 — Effective training and development

In the context of i
Select ong answ

4 A The proc
L3 B The proc
3 € The best
I D The potz

1.

What is ‘on-the-job fraining’ also known as? Select
one answer.

LI A Formal training

L3 B Informal training

LI € University training

LI D Off-the-job training

How might the provision of well-structured training
schemes for employeess impact o business? Select
SNE ANSWer.

LI A Increase its overall productivity
4 B Increase its long-term profits

4 € Reduce its rate of staff urnover
L B Incil the above ways

Which one of the following would not le
business prosperity? Select on :

LI A Effective staff tro

L B 5 : tion schemes
U g Secision-making

I » iate management siyle

4,

What might be t

that trains and d
high stondard? §
L A Competit

B Competit
Stressful
B Creates
staff pro

MENE N
3

Resistance to the
o workplace is m
one of these stak
oOne answer.
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2.5.4 ~ Motivation

1. What are two likely impacts on o business from
having o poorly motivated workforce? Select
tweo answers.

& Increase in competitiveness

B Increase in long-term profits

& Consistently high rate of employee

productivity
B Consistently high rate of staff furnover
E  Consistently high level of staff absentesism

OO ooo

2. Which of the following ore the two most likely
reasons why a business might offer its employee
monstary incentives and perks such as flex:
working arrangemenis? Select tw

A To motivate them :

se their

: etiors
srove their public imoge
wetain thelr loyalty in a competitive
labour market
E To make them less competitive

AU W W N
©

3. Which two of the following are nof financial
incentives? Select two answers,

4 A Job enrichment

Job rotation

Bonus

Commission

Lsaooo
MmO

Raemuneralion

Which two of ?he
Select two answ

LI A Autono
4 B lJob enric
4 € Bonus
D Commissis
i E

Job rotat

In reality, which i
most effective ma
up to a seasonal §
hwo onswers, &

MR NENEWE N

w0
>
.
<
o]
3
a
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